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Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from
1-80 are printed in order in the Question Booklet and ensure that the OMR Answer-Sheet
belongs to him/her only. In case of any discrepancy, immediately inform the Invigilator
to replace your Question Booklet/OMR Answer-Sheet.

IMPORTANT INSTRUCTIONS

+ Do not open the Question Booklet before 9:00 a.m. in the Examination Hall.

4+ Read the questions carefully before marking the right answer with blue/black ballpoint pen only
in the appropriate circle of the OMR Answer-Sheet, as firstly there is provision of negative
marking of 0:25 mark per question for wrong answer as well as for selecting more than one
option of a question, and secondly no extra OMR Answer-Sheet will be provided for any mistake
or correction.

4+ In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write his/her
Roll No., Question Booklet Serial No., Question Booklet Code in the space provided in the OMR
Answer-Sheet by shading and by writing in alphabet and numerical on the front page as well as
on the back page. Otherwise the OMR Answer-Sheet will not be evaluated.

+ Candidates will have to sign twice, once in the Photo Attendance Sheet presented by the Invigilator
on duty after taking their seats in the Examination Hall, and the other, at the time of handing over
their OMR Answer-Sheet to the Invigilator after the completion of the Examination. Cases where a
candidate has not signed while submitting the OMR Answer-Sheet, he/she shall be treated as absent.

4+ Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

4+ The candidate should make sure that the Question Booklet No. and corresponding Question
Booklet Code is properly written/shaded in the OMR Answer-Sheet by him/her. For example, in
filling up the Question Booklet Code, if the candidate gets Question Booklet Code ‘A’, then
he/she should fill up ‘A’ in the box provided in the OMR Answer-Sheet and also shade the circle
‘A’ in the OMR Answer-Sheet.

4+ Candidate should do all the necessary rough work on the Question Booklet in the space provided.
Rough work should not be done on the OMR Answer-Sheet or on any other paper. If any rough work or
overwriting is done or whitener is used on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

4+ In case of any discrepancy or confusion in the medium/version of the questions, the English
version will be treated as the authentic version.

+ No candidate will be allowed to leave the Examination Centre during the examination hours.

4+ Any candidate found using unfair means including carrying restricted items like mobile phone,
calculator or any electronic gadget or objectionable materials, etc., which are not allowed in the
examination halls/rooms shall be disqualified.

4+ This Question Booklet consists of 140 multiple-choice type questions, all carrying 1 mark each
approximately from :

Pedagogy : 50 marks
About Assam and its People : 35 marks
General Mathematics (10th Standard) : 15 marks
General English : 30 marks
General Studies and Current Affairs : 10 marks
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1. 8 boys and 15 girls can complete a work in 3 days, whereas 6 boys and 5 girls can complete
the same work in 6 days. In how many days can one girl alone complete the same work?

(A) 60 days (B) 75 days
(C) 10 days (D) 25 days

2. Substitute the bold word in the given sentence with the correct option without changing the
meaning :

“He selected the books for the library judiciously.”

(A) legally (B) impartially
(C) lawfully (D) reasonably
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3. When a few students have difficulty in understanding a concept, what must a teacher do?
(A) Ask other children to explain to their peers in simpler language
(B) Use a variety of examples/illustrations from their life to explain the concept
(C) Repeat the explanation many times till they understand
(

D) Change the topic and take a simpler one
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(A) 4 H (B) 16 ¥
(C) 2 M (D) 8 %

4. How many kg of tea worth ¥ 47-75 per kg should be mixed with 8 kg of tea worth ¥ 54-50
per kg such that by selling the mixture at ¥ 55 per kg, there is a gain of 10%?

(A) 4 kg (B) 16 kg
(C) 2 kg (D) 8 kg
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. Which of the following statements about children are correct?
I.  Children are passive recipients of knowledge.

II. Children are problem solvers.

III. Children are scientific investigators.

IV. Children are active explorers of the environment.

Select the correct option.

(A) I, II and IV only (B) 1, II and IV only
(©) I, IO, II and IV (D) I, II and III only
. o1 FHF! S ARSI W O AR A 2
(A) TP B TS (B) “fedl T2 SrexEere
(C) It I TSRS (D) 3R (FICACOICES T2
. PITCTT (@G (CoCR] AT) @R FI2[C (O (YLl IMH) (IR 16 AR 2
(A) DT AEE S (B) ~IfRCoRT 2@t SremEeen
(C) Tt I SreRRCen (D) «@glem @b
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(A) T FEIA UTeh (B) Uferqll AmEeaciie® HgaTi
(C) AR ATEeaaTe® HYATR (D) SHRA AHAET TST
6. Clouded leopard and capped langur are important animals of
(A) Manas National Park (B) Pobitora Wildlife Sanctuary
(C) Bornadi Wildlife Sanctuary (D) None of these

7. JSTEECE TFO T TS F TP GFAG FGAF (208 To TR Q1 | (I 2% E (08

@3 ST TS FARe 2
(A) “oremE (eaar (B) <TREE
(©) ‘¢if2 eefafa’ (D) ‘orel fostara ofR’
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(A) ‘omere CsFar (B) ‘FrFE
(C) ‘cif2 wafef’ (D) ‘“anel fostag #f2’
7. Saraswati Samman IR TG SRH A=A FFET So AeHA< s | o« fosefy omam
forermet SE MmE?
(A) ‘OTaTer 9t (B) ‘@Y
(C) ‘afg mufafer’ (D) ‘T fueik wiia’

7. Dr. Lakshmi Nandan Bora is the sole winner of Saraswati Samman Award from Assam till
date. For which book did he win it?

(A) Patal Bhairavi (B) Kayakalpa
(C) Sehi Gunanidhi (D) Ganga Chilanir Pakhi

8. ©Ce [N 2fewHl Ifm TS Ta® (THDI (SR A L R PTCe G+ b FFa Ffcz 2

(&) eafe (B) ez
(€) =™ (D) i
8. e 2fsT 3 Face THe ~IFHPTR SRECDR & SRS (| (70 AR GF> Hie FrFa FCace ?
(A) SRR (B) =i
(€) =™ (D) (I
8. IR fehurmdl STEMT Jard ST AT a2 Sl ST TRdT ST T8 e e Wi | S
FCUR I
(a) R (B) TfRen
(€) Hr (D) mHify
8. India has signed a deal with which country for advanced Pantsir variants to boost air
defence?
(A) America (B) Russia
(C) France (D) Germany
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(C) e (D) CoT=
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(A) W (B) =fs
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9. 2TEH YR Sifq T STcThRI TS clieal SHIM, TITThRT THISH, el faeaTel®T TSl clies SHH ?
A) TfETER (B) #X
(C) ¥ (D) w=1
9. During the Ahom era, if Sonowals were associated with Gold, Rupowals with Silver, then
Tiruwals were associated with what?
(A) Soldier (B) Elephant
(C) Boat (D) Iron
10. From the options given below, choose the word that is most nearly opposite to the word
‘Frugal’.
(A) Extravagant (B) Rich
(C) Miserable (D) Happy
11. AR I ey wifew 2
(A) IS=1eT (B) SIEq(
(C) =u Pz (D) i ot
11. SyeE S el =e 2
(A) I (B) SIFIIAT
(C) ¥ PrRZ (D) fS e
11. #igsian G TSemEHEE?
(A) ToTaTe (B) W=t &THA
) == T (D) ffd 9
11. Sridurjaya was the capital of
(A) Ratnapala (B) Bhaskaravarman
(C) Rudra Singha (D) Niti Pal
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Which of the following is most important in creating a culture of learning at school?
(A) Good facilities and infrastructure and range of freely available resources

(B) Strong relationships among learners, teachers, leaders and parent community
(C) Less workload for teachers with enough support for professional development
(

D) Good salaries, facilities and performance-based bonus and clear job roles

13.

13.

13.

13.

TR AT R A R wqife 2

(A) =R (B) W8

(© f=fT (D) <7
IR ACH O A CPIAD 12571 2

(A) 2w (B)

(© f=f (D) <P
FBRI TISA( ST TSAAT AT HTHA?

(a) (B) =

(©) fastf (D) B
Which was the last capital of the Kachari Kingdom?

(A) Maibong (B) Marangi
(C) Bijni (D) Khaspur
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(A) T2 TS Aol (B) TrwIgi =mael <RI 3
(C) eRFHfefed JERFE 2l (D) NP TEHRFS @l
14. e SO PEFITE STeeigere DR T FCS AT ?
(A) TPl e IRl T (B) PRFIRR SRl 2RI S
(C) wmfefes Jenreas 7=l (D) ARFS JoHRCT =l
14. HEETERM TR GRS amfrdt BRiFTReRT el gr am=n?
(A) T A TET WA (B) HEETHI TGl - 3G TP

(C) TSN HRIE WA GHFTE Tel figmm (D) S wE SAsE e e

14. How can teachers assess creative thinking in students?
(A) By conducting peer assessments (B) By observing student behaviour

(C) Using project-based evaluations (D) Through standardized tests

15. 1828 tefe spie &b e e 22m [ewes (Tow @ ffee 2

(A) frfer g (B) SR el
(C) CINE &[T (D) fPRIfeT ==l
15. 1828 e wpTica &b *pie fRerem 22w fRewes crow Weafeee
(A) forrfer Fom (B) WM (rea
(C) NI @R (D) forifer g
15. 3THME gied s o 1828 1a fifafem fnmrerra se=m=
(A) Tt ge (B) #FRM o™
(C) THER IR (D) ferrfer s
15. The first rebellion against the British rule in Assam in 1828 was led by
(A) Piyoli Phukan (B) Maniram Dewan
(C) Gomdhar Konwar (D) Piyali Barua

16. ‘5" JKE (FICT 276 FAMRe 2

(A) T (B) TR
(C) =l Pz (D) @ Pr2

16. ‘CoIPT 9T (T 2 FCAMRCE 2

(A) TR (B) R™R
(C) =@ Pz (D) ¥ P2
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16. ‘g @ifEdEl 9 aRfSemE?

(A) G (B) T4
(C) vy fére (D) %= fae
16. ‘Posa’ system was introduced by
(A) Sukaphaa (B) Suhungmung
(C) Pratap Singha (D) Rudra Singha

17. So1o TCEd T4 (PINCAIN 5Fu e wifeet (SSI) 2
1. R «feres w1 (PPF)
2. N A Sl
3. T [Rem7ig (KVP)
oS il RCFS 2R A APF Teq Az Ters |
(A) @ 1T 2 (B) (FF 2 oF 3
(C) @1 1 9% 3 (D) 1, 2 =< 3

17. FRfResir T @mesfk g Fu T 259 (SSI) ?
1. “Rfe afeces w1y (PPF)
2. el M TGl
3. T Fm7@ (KVP)
ATE FR(FS IR FCA AT T o5 79 |
(A) FEINE 1 @R 2 (B) (FEINIE 2 @R 3
(C) FNE 1 @R 3 (D) 1,2 @R 3

17. TEEN AEE S9= Small Savings Instruments (SSI)?
1. uifsoreh ufige w1 (PPF)
2. YHAT GYfE BTETHIN
3. Torom fawm@ w (KVP)
MEEE 29 Code @ IREAM Ne fhAamerg! @@’ |
(A) 1 3R 2 A (B) 2 I 3 A
(C) 13 3 A (D) 1,2 W 3

17. Which among the following are Small Savings Instruments (SSIs)?
1. Public Provident Fund (PPF)
2. Sukanya Samriddhi Scheme
3. Kisan Vikas Patra (KVP)

Choose the correct answer using the code given below.

(A) 1 and 2 only (B) 2 and 3 only
(C) 1 and 3 only D) 1, 2 and 3

TCR-2024/P-1/201-D 13 % [ P.T.O.



18. WTHEGA ~RTEN SIS PR (F14 e aieCes SR (8fRe ?
(A)  PReTR (B) =IRw[q
(C)  CoNRETET (D) foceTs
18. WITBANCH ~APEAR S P (Pl (ST SIS S[Fe 2eaee ?
A) FRETeE (B) =R
(C) CoMRE=TS! (D) FieTs
18. Mountbatten TR freTa sam s« w8 fammE ggwe semH?
(A) TEETR (B) wfRgwgR
(C) TTETeTIRT (D) focre
18. Under the Mountbatten Plan, a referendum in Assam was to be held in the district of
(A) Sivasagar (B) Lakhimpur
(C) Goalpara (D) Sylhet
19. 2024 B4 P19 61 (e Tehofee 2
(A) ST BICE (B) (T o185
(C) <[ foree (D) (b2 SR
19. 2024 & JFF 7[R (F [&roces ?
(A) T BICE (B) IR 9ME1%5
(C) e foree (D) Ca Feelfos
19. 2024 T IR I G HFGHH?
(A) | BT (B) <™ TMeTe
(C) uet fera (D) e FHEUNideTeh
19. Who won the 2024 Booker Prize?
(A) Samantha Harvey (B) Damon Galgut
(C) Paul Lynch (D) Shehan Karunatilaka

20.

20.

e Rg-gae R % T 77, (oS AT 9wy v W Sie Sivee SR A0 | 3R
PR 2

(A) T EIPTS 7S (30 (B) (OSTEARF (Sl

(C) (ST Sczella (D) (SSER SoFKe[R

CPTRE QS AR *1E (real = ©IF WS 8Fg (7 Al 3R SPMDAT FCOR AT | G K9 28
(A) @B SR SIOT AT 2R (B) ORI (Sl FOIAA

(C) Ol SeerfTe ¢y Fe = (D) ORI S7RIL?[RA
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20.

20.

TN BT BIEETHRT TeTe J9 SRS sl JeTe! STETEn SR My 3rg e o af
SITEMT Sat

(A) ToERET gar ST (B) ToR sm@n

(C) TorER TgAfE! @ gan (D) TordR sTa Haw

Students who are punished too often no longer care about being punished and continue to
misbehave. This is because

(A) they are habituated (B) they are stubborn
(C) they are demotivated (D) they are delinquent

21.

21.

21.

21.

[E 2

(A) SICE *PTTFER SE e TP (T
(B) iz ferar fweroi&t

(C) Topame

(D) 93EARF (FICACHICER 727

FEG! =

(A) SICE *PTFCTE SIS e
(B) e =l e faeigt

(C) T

(D) @sfr @Cbe T

SRS et

(A) 2TTen GAfwRA mMaf—er o
(B) TSN T o

(C) SR STemgwmRi forew

(D) SR A=A T

The Buranjis are

(A) autobiographical writings of the Ahom rulers
(B) diaries written by the monarchs

(C) chronicles

(D) None of these

22.

22.

NN 2R *FF1 SreHRey ST (@I fEere =g 2

(A) @26 (B) ColIETHIG
(C) T=PTsR (D) =&
fferiRe S (@ cEErE At iR oFF SrenRen ST 2

A) @2 (B) (ST
(©) PreTeR (D) cqIf

EIERE
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22. T et 3= dgaTiEn e TEE w96 e 37

(A) STETd (B) et
(C) fersEmmR (D) &mTsit
22. Pani Dihing Bird Sanctuary is located in which of the following districts of Assam?
(A) Jorhat (B) Golaghat
(C) Sivasagar (D) Dhemaji

23. Choose the correct option to fill in the blank :

I am entirely absorbed my business.
(A) in (B) on
(C) at (D) with

24. FIR-FONTFT Te© “cyberbullying’ 251K F9 IR TR (FIICH! 2
(A) SeREE =%
(B) TORCIGS A2 AfN© 4
(C) TERoe MafFga 2o <1
(D) SeTIEe S5l Teor 1
24. FOm-FeNRem T ‘cyberbullying’ 2fecdy S FREA TR (G 2
(A) S#REE =B e
(B) THRCIHA I STife F1
(C) fEf&bE erfces v 41
(D) STeTiBe SI6e TR Al

24, WATEHMGRM TSE HEANE(A Gl SELMEH T TErE A7
A) < e e

(
(B) 3CRHE ATEREFERE! TH WIATHAT BHE
(
(

)

¢) fefee Tl wemeam=

D) 3T TgE! TRA™

24. What is an effective way to address cyberbullying among adolescents?
(A) Punishing offenders
(B) Restricting internet
(C) Promoting digital citizenship
(D) Ignoring online behaviour

25. f5a1e (@ TET @Bl 2D =[S Ty ?

(A) e (B) =elIw

(C) f2uset ziome (D) ol
25. (GAI€ (T ACHT GFT0 2D AR>S 75 ?

A) fcemE (B) wfeaw

(C) T2smwet 2o (D) ol
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25.

25.

ST el TESA ATE TSH SRISTH HEHE ?

(A) forsm (B) wrftemg
(C) femr=ret wem (D) T
Cheraw is an ancient traditional dance of which State?

(A) Mizoram (B) Chhattisgarh
(C) Himachal Pradesh (D) Goa

26.

26.

26.

26.

T (! AR S B- @R (TS S S SibiReld fTEAcian B o 69 2
(A) NIRRT 41 TS TFMEF A0 BTG AR @R

(B) SRR 7R, RIg-2aq a1 PR S AJFHla Foree]

(C) TRFFFIRRCaT 2Tl (oITCHR TRACHR “(RIFPHR

(D) &S @S == ~Ifpifere q1fErs =P A[rFrNR

e Jenre emefer W @At b ciice RrwRicom I=E s s 2 awie 3 2
() 2B (AT THS 2hxprR BTG AR e

(B) SRR R, Tauiae I & 3R RwE Feee]

(C) TRl q=d &ca vl s (el ARIFPTNR

(D) FfEr (TS ==l “Ifbifere A< 2NAFS w2

TMER el S AT HFH SREISTE BIRETRRT S sifee aissn w1 et amr gm=?
(A)  EUESTENER AHLATEHT FifU®RS 334 g dH

(B) 3TRAT TSI ARG, HIEET YTEl @I TR 3TTe {hamg

(C) BRI TERATS TFE AT<TE

(D) State Board HRI SIS HHGTRFAT TG AT

Which of the following assessment schemes would provide the most reliable indication of
students’ learning in a class?

(A) Unit tests with standard questions from textbook

(B) Informal observation, student classwork and test results
(C) Teacher-made tests given throughout the year

(D) External standardized tests conducted by State Boards

27.

Choose the correct option to fill in the blank :

A busy person has time to waste.
(A) little (B) the little
(C) a little (D) much
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28.

28.

28.

28.

SRS TP A BG-TAIF PR 2 IR AT woTe (oM K| @l (e | SeeME Woe
TRTOI FrFIAPTRReTS ©fel FeTre] (TAIRCa] ACKTed (FCH! Rhgl 217 FEa =iford 2

(A) M “Tahe A2 P ARSCH! =7 Heeferd SR SFEm FI A
(B) Ta-eIffe “mafeq Ta=1cacq Sl SRe F6eel e ZFahe ST Mo
(C) PR ¢l PEmRTeers Sfefae BTow o< a0 amie Ffa =R
(D) fifea =R, e W e ST «RERs e[ w9 e

SIS PSR- Il 2Wle TG CFCd eToIC e S’ K (redl 2eieR | |vE
T @D Tred Kes @b 57 wa-zan Tafecs 2R F0e TEeR SR a2 1 T ?

(A) SREM w(S R FCT Al e Sl S SEEm w0

(B) eI “mmfe q2e ¢ SeEfere SRR 379 X0 Z[Fghe T

(C) SPIRYR A 267 Wa-RaAer wfefe B g2 qFHiG em Fea
(D) 2pd ~IF=1 2, ACFS GR IR GC qoel TR FCA

TETE ST THT HUEETRIAT FIATTE SR ATt e JEd el e Siel | MR s«Jr it
Tfdscett Maf T SAETRITE! ST BHETE Hididal STRRIMEEAT araied 3Tes ?

(A) TEHIARATE SATES STEEAR T TS SATEAT [T SHEATEAR
(B) RGN ATEd AEREAR STHEITR e Mo SATeRE - =

(C) SHTSI T HIfT ™ FEETERM 9ra fE3e7 SR Saehibe gFm
(D) IS HEMNGR, TARTHR AR Jl =M o srera=

In dealing with students with language barriers, Malati is presented with the following
choices. Which, according to you, is the best choice that Malati must use to help all her
learners make progress?

(A) Using translation method—translating each word into the regional language
(B) Using bilingual method—repeating everything in the regional language

(C) Giving extra tuition and worksheets to struggling students
(

D) Using a lot of pictures, gestures and real-life situations

29.

T (FIICHI (5B BIfRST (7 G20-3 7T ?

(A) SCSIB, R, Wi SR e 9l
(B) SICEferal, Frel, WeTcaiRa o fefete
(C) AfE=, Tqm, (Bift oI =1 S

(D) Tewrcerea, wei, feeaeq o nfa (i

29. foaferr (e 71926 G20-9 bEf 1Py 18 ?

(A) TS, CIHCPI, Wl SRR @3 Bfh
(B) SIOGfETR, e, TECMHE @3 fefemme
(C) e, 39, Clifn =17 @R fSeay

(D) BCTICAE, Sriofe, Biefie[ g3z nf=pel (it
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29. TREM & TG Toet Agsien G20 7 dEm?
(A) ARSI, Al , Giefl ST AR oAl
(B) eTferan, sMTel, wierteEn s fefeve
(C) ISie, 30, Hife TR R fiRam™
(D) ZeATER, ST, FTgR TR @iet i
29. In which one of the following groups are all the four countries members of G20?
(A) Argentina, Mexico, South Africa and Turkey
(B) Australia, Canada, Malaysia and New Zealand
(C) Brazil, Iran, Saudi Arabia and Vietnam
(D) Indonesia, Japan, Singapore and South Korea
30. TEH (PICAIT B9 PRI SII=IeIq A0 LTS 2
(A) “IfRe@Fel, e, T (B) e, “f7@el, It
(C) =, T, WRE [P (D) Ca@el, S/, AN “f[{ca
30. FAR® (PR @l Rl SEaeeE ) 2SR 2
(A) ~ReEel, T, (2Rl (B) e, “fieieel, JmTel
(C) =, T, W [P (D) 2N, S/, AR [
30. TEAM F&l AT AAATE AHTAM AT@T T 7
(A) TEHE, TEE, Ao JGEEHT (B) THM, T, Wl
(C) T@, s@l, TY ST (D) HTEH! GTRAEHME, Td, FHISTH STTEEmET
30. Which of the following are necessary for learning to happen?
(A) Maturity, ability, motivation (B) Ability, maturity, intelligence
(C) Language, age, motor development (D) Motivation, language, social environment
31. Wbl 7S “NqQ A oA AF 29 SFATS e 4: 1 P 3: 2. [ SF2Tee qeb! ~lqe 4l el 101
fRe1Ieet a1 I #[19 Sq°1e 5: 3 7' 2
(A) 2:5 B) 5:2 () 7:1 D) 1:7
31. 7l o7 @ A 74 9R SR HGATS 4: 1 GR 3:2. 5: 3 IS G4 € G AP WA (TS 2
ST 2@ {68 W 1 SoIice (0 263 2
(A) 2:5 B) 5:2 (C) 7:1 D) 1:7
31. T IESEE IHE MEER AR M FFATT BRI 4: 1 IR 3: 2. I8 TJARAE Tl IESSTE AHE

AT HIF-E TS M 3R & ST 5: 3 ST 7
(A) 2:5 (B) 5:2 C) 7:1 (D) 1:7
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31. The ratios of milk and water in two different containers are 4:1 and 3:2. In what ratio,
we are required to mix the mixtures of two containers in order to get the new mixture of
milk and water in the ratio 5: 3?

A) 2:5 (B) 5:2 © 7:1 (D) 1:7

32. ‘fer 7T TR’ ST 4 5L GBI @bl Ay TR | 9279 (@] e @ BT e 4l

277
(A) B’ W2 22 AR (B) I W2q O (TEIR
(C) Tl W2 2 4T (D) WrE =T AT JHAN
32. ‘wfer =cw forame’ 2o SIpIICHR iR seefen @3 e Tor | afeqma (@ ©ifiey @@ TR wem
1 27 ?
(A) Co@ T 229 41 (B) F%A R 7 IRAR
(C) FTEA T 2 I (D) S W AN IE
32. ‘nfct A form o stamty i T geren wra | SEhmEl 7 9 o BREE! Biierl ?
(A) = AN Fife guemE (B) WF[ HM Staem Ifsema
(C) &IH aAH fify guemE (D) wFM gH fifer goammE

32. Ali Aye Ligang is a famous festival of the Mishing tribe of Assam. On which day is this
festival being celebrated every year?

(A) First Wednesday of Chaitra month (B) Last Sunday of Fagun month
(C) First Wednesday of Fagun month (D) First Wednesday of Magh month

33. “A-ARFHA FT2PTO! HF5® FRCoT o CFIC SABIRSF FFgejf T 2
(&) zfeem PrEmRE AT o e 32
(B) “IToCh! SIRRAR FREC P (7Y S A 9Bl FITHR
(C) =I-TAF i w1 e wfifEs Jemmm e afb «19
(D) 159 5TS AP FFCET 40 2vefe] S =12

33. “NI-~IfFEeTl SR B COFTAI &) O (FIAD 34 (AT BTGy 0w 2
(A) 2o R s Ao g3 B
(B) Il IR 97 geice fefbe (rRE ool «Ffo Fo[ToR
(C) =a-aA P “RACEIL S & AT TSI JonE
(D) I1C5R I 2P RifSm fige-sTaE ey 3R scwe

33. TEEH e A B fHATRae aHsEEmE T G SEtggel TR B
(A) TTHHE T ATETE FESTE TR T2 ot

) U GIESTFR WA 9@ Videos 2RI Clips fafFRT 78 witazan

) HUEETHRA HAHEE! TS SR St Mol seH g

D) WS R SrEfE TEm kg s aea

(B
(C
(
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33.

Which of the following is the most crucial resource to ensure the effectiveness of a lesson

plan?

(A) Textbooks and notebooks for every learner

(B
©)
(

) A computer to show videos and clips to make lessons interesting
A lesson with embedded assessment to check for student learning
D) A variety of displays and models relevant to the lesson

34. (I FEIAPRFER A S /TS (FIFI LT T[S ST ?
(A) o Aoy B) ‘FET
(C) ‘wTeR’ (D) ‘[’
34. (5 AT I 30/ (FI 2ACT MCH GTS ?
(A) SR e’ (B) T
©) TR (D) ‘SRR’
34. F9 TG FHME TH /AR A7 fSSrest amar 87
(A)  ‘wrEd Tar (B) ‘i
(C) ‘mERa’ (D) ‘TEE
34. Kushan Gaan/Dance of the Koch Rajbongshi is associated with which book?
(A) Bhagavad Gita (B) Kirtan
(C) Mahabharata (D) Ramayana
35. TR o TRl fewee e e 27 2
A) ETETR O 71 [k 3 (B) Wl Tl
(C) SIS [Frem R (D) G2 GBTSCP 4P
35. “RRE! Ol e w91 =7
A) T @R R RS I @w (B) wIcacals &= aEl
(C) SR Fa CFIceq =Ml (D) @l GFF (A AP
35. To'Tr guft I gEE mER Ao ?
(A) T AR A iR S (B) e fec ST
(C) M @™ Wwn (D) SHRM ST JHEf St
35. The period of later childhood is marked by
(A) slow and steady physical growth (B) stability in emotions
(C) anger against injustice (D) More than one of these

36.

TCR-2024/P-1/201-D

T2 01 T AR AfEEc [ T Tl TS el (afe 2

(A) ST T (B)
(C) ISR T (D)
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36. (T TOT G FCI ToICO 72 o1 SF© Sl BN “IIeTe] FCARCE 2
(A) TRV T (B) QMoIFTT T
(C) ™I@IF T (D) CoRSlE 7T
36. &R g1 wehd G ST W1 FEEEN oRE™ garar?
(A) TSI T (B) TR HIEMT
(C) THTEAR HEHE (D) AT HEH™
36. Narahari Burha Bhakat is the person behind the popularization of which dance?
(A) Devadasi dance (B) Bagurumba dance
(C) Dashavatar dance (D) Bhortal dance
37. T el P SI@wel FRACE (P ~[012fee 2
(A) =PI (B) w=ifed
(C) e (D) ST
37. T GAEACS SPTH SGFH FACS (3 (MMM 2
(A) FE (B) =S
(C) *mez (D) &S
37. TR S[ueTe STamE! TreleHl SUTgetsarHe
(A) ITTRR (B) SRR
(C) SMESRH (D) e
37. Mir Jumla was sent to invade Assam by
(A) Akbar (B) Jahangir
(C) Shah Jahan (D) Aurangzeb
38. 4T SREHSICT ACT OF TR SR SR 2120 e, S S+ BB aPTeers Fjale fWferggfer T |
TE xATe SR A2 O e Y9 f[iven e SR Sed w09 | G2 o[RS e wmece 5 taez 2
(A) 2 T SEgEn Sl Iz
(B) 2 foreq #Ifvaq wpefe feams
(C) Of2 FREFTOIN TSR SJeq FICR
(D) %7 SR S 7Cd [P0 @[ A3
38. 4 GIFF ICT G GFIP! G AR AW, (T FICW SN0 2G-2GIHE A0 (T F¢a 1 | OT FIT

GFIH 0T G fecece fifvee @3z PR Siged 5Cq | @2 AR SRR SeTE Wb F 2
(A) O SASPTFECEE R Seq FACR

) O SR SRgfelt e

) CT O feees FREFTOR SO Seed TR

D) R SRR SIETed [FH 3 IR

B
C

(
(
(
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38.

38.

T ERRAS AT ST WY STeREEl gRE SR, R YgH SRETRRS TR o | for e
RS SR, erdt gRfE | 3T Gl o | srdt RS faet 7 e

(A) Torm TTTeREt TR ATEit W ST AR A

(B) Tl Rmmafafs wiiforn qma’ omganft

(C) ot mafs AreriEra TETe Wil

(D) faft Ta-wifeEn e eEE

Dhanya sits alone and eats her lunch alone, she does not mingle with other children. She
sits alone in the class and feels isolated and unhappy. According to this scenario, what is
happening?

(A) She feels low sense of self-esteem
(B) Her sense of identity is negative
(C) She lacks sense of self-efficacy
(D) Her self-concept is not developed

39.

39.

39.

39.

g SRR fFh (Y (ORI 84 BT AW T 45. 761 I8 35, 4@ A WF B I« A4
120 9, TS A 359 I B 3fFped @k | e @2 qol Bfea 9 am W@ =, (TR’ (96T A9
Al 82 BFIRDT TT A 2 43. (98 A 3w [FHE 9 Fffee 2

(A) 60 (B) 120 (C) 187 (D) 173

SRR @b WCeTd G AT 84 BT ACE 91T 45. b [ 31, 321 A @R B-97 W
(2@ T4 120 A, @07 20T ACS F1 AR ARSI 30007 B-97 (:cF @ 1 A @ 16 201 am
ST 7 ©IRCE I 82 BT ©IF A ST 43 @ (e e | A T (O F© A e ?

(A) 60 (B) 120 (C) 187 (D) 173

Y IRATR fshehe T SeaiHts 84 sfHdma e TAT 45. T 91 3@ gram @ A e B 73 waft wrem
120 T, STE A 3HEH T B 3HEMEE qMEH | & GH 3HEAM TE! AFReT 6 T8 T 3751 99 82
3T 43 TET| A @@ o= sHe T9 Greame e

(A) 60 (B) 120 (C) 187 (D) 173

A batsman of Indian cricket team has an average of 45 runs in 84 innings. The difference
between two particular innings, say A and B, is 120 runs, where runs scored in innings A
are more than the runs scored in innings B. If these two innings are removed, his
average runs for 82 remaining innings come down to 43 runs. What are his runs scored in
innings A?

(A) 60 (B) 120 (C) 187 (D) 173

40.

RFT CFa® oS Rl (FITCOT 3761 2

(A) T 279 S99 TR RS T @ IeEE R ETEiE
(B) e Ton wieewer F19fe Se@ifee (2[e 72 FCq
(C) PR =1 el qoe [T 1QT 8ol[e 69 I

(D) e SR 2SS S Yfemre foewe]
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40. MR GG TN @FED AT 2
(A) TRres aAf SmaceR TR B 2or 8 I AN RS I T W
(B) i< TTen wifeeeery e Sfecdlfere 20 2Ry FCd
(C) CI4R EFTS| (FIEHG TG JAICHA ToF fersaire]
(D) i 7 2feane 3z Jrewre wfvwe]

40. TEAM o= WAHEE AT@m q91?
(A) HIAHET ARG ST AT AT ST FAth-1 gr
B) e TS SicAHTERE! TSaq! g
C) W™ M ol qHEH 1Q F awmE aFm
D) WA SiecATsll STSTEYTg TR 37 A

(
(
(

40. Which of the following is true about learning?
(A) Learning is a permanent change in behaviour that cannot be undone
(B) Learning can be adapted through new experiences
(C) The ability to learn depends solely on the IQ of an individual
(D) Learning is always a positive and liberating experience

~

41. W 9B SRS 0 10% e 27 NF 2% 10% TP 2, (OC12 6 SARSCHAGH i

A) 9 A (B) 1% 3@ 23
C) 1% 3ZM 2’7 (D) 10% 3 2’3
41. I G TFECTH@A O 10% I T W @R 2¥ 10% ZPT I T, O ARSCHADT (FIFE IO
207
(A) 92 ARPE (B) 1% J(@ 7
(C) 1% 3/ “IId (D) 10% J@ I3
41. TFY TEAH ATEATEAT 10% STST A 3RATET 10% TIHA, Tscll 3TFd SscAT3 IscATg =T ST
(A) TE 9T (B) 1% @mi=
©) 1% EfET= (D) 10% ST

41. If the length of a rectangle is increased by 10% and the width is decreased by 10%, then the
area of the rectangle

(A) remains same (B) is increased by 1%
(C) is decreased by 1% (D) is increased by 10%

42, NEFFIe mem Frea b Sfen okel | 3R 2ASRK SHReE @RGF (R[N IR

(A) IR RS (B) TMRA ARET FETS
(C) (I FTTS (D) IR #I1=S FIeTO

42. AN&EFTe Kuiercas Prem @5 Sierfef =i | 99 e[ 3 S @R ol TR
(A)  germ s (B) 2RfSF T
(C) CRCHTPICS (D) CH*ICaTes PICa
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42,

42.

THTSTR ST -WHEETe Fieienst JAe AR STern | of T aife g2

(A) T ot (B) firfe e\ wmrE

(C) TTIHH ST (D) 3¢ |H =

Socialization is a significant part of schooling. The impact of the same can be significant
during

(A) foundational stage (B) early childhood

(C) adolescence (D) later childhood

43.

43.

43.

43.

3@?{ Sk 9, 20209 NP AP 8o QTG @ F9 (27 | 93 e S %, Continuous
Professional Development (CPD) f35ic7 @bl frses afSee frrsq a1 g e 961 v
SRR ST 1 2T 2

A) 10 (B) 20 (C) 30 (D) 50
AR FEFEfe, 2020 FrwcEd WWORC TR (wR frice | @3 Gife SEpiic, SiRfoem copwifa
f3r (CPD) f2011a (b PrsRcy afSlh s IR (ACF FHCF F© 951 R 2ifirsel arepifie 2

(A) 10 (B) 20 (C) 30 (D) 50

TIEET AIeNidTg @I 2020 31 BRIAE! BIHAEN dEbmE ST T gei| o @y anfdd, SEaat

AIiYTE SERE Continuous Professional Development (CPD) T snfed wem it @i she

(A) 10 (B) 20 (C) 30 (D) 50

The National Education Policy 2020 has emphasized on teacher empowerment. As per this
policy, at least how many hours of teacher training are expected from each teacher in an
academic year as Continuous Professional Development (CPD)?

(A) 10 (B) 20 (C) 30 (D) 50

44.

44,

ABCD v9%ed D 9[F C (F1[ q17 TFCH 60° AF 100°. A A IF B (FIH T@IWREISE P Ko
FIEAC, (908 APB (F1oR T+ f1of 3541 |

(A) 90° (B) 80° (C) 100° (D) 110°

59¥s ABCD-G7 D €& C (IR 7 IAGT 60° ¢3R 100°. M A R B (IR SBITARLGT
P i“@\o SfeTe 2, OCF (9 APB-EF I+ 24

(A) 90° (B) 80° (C) 100° (D) 110°
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44.

44,

ABCD I @If¥sif D 3T/ C @A S@mm ®IiE 60° 3T/ 100°. I A 90 B @1 3 amamammn
P for=ieTa A J9ell, sl APB TH1H W fag |

(A) 90° (B) 80° (C) 100° (D) 110°

ABCD is a quadrilateral in which measures of angle D and angle C are 60 degree and
100 degree respectively. If the internal bisectors of angle A and angle B meet at P, then the
measure of angle APB is

(A) 90° (B) 80° (C) 100° (D) 110°

45.

45.

45.

45.

FRTS! ST TS GoTS TN (FIICH! SACHIET S9S SPTS *[% CTIfEaq o1de (2%e 2

(A) =199 Ot HICHIeT (B) 126l S(3lel5 KW
(C) SPTCI SCwIET (D) 2N @2 o

FRT! SR TRBICE HfeIRe (I Sewea [ WP =g ez oifve 2ewe 2

(A) SRS RICT! SICHIET (B) SII%e S SICwIsT

(C) SPTREAE! SAICHIET (D) ST SR

3T AHTTEARE FHT STTEHE i 81 MeE! 9« SHEERAEH & e seme?
(A) 9RA TR HHEHEA (B) 31gH W SHTEEA™

(C) THNTE B HHEHRAE (D) ATEH THREIE

The Shanti Sena Force was formed in Assam during the Independence Movement before the
commencement of the

(A) Quit India Movement (B) Civil Disobedience Movement

(C) Non-Cooperation Movement (D) Ahom Association

46.

46.

ST (FIACOICA SIETHETR T AT Jo0ATT “[91 7J2 e 2
A) Ta-2@ Frog &l

(B) ®IG-RIAN MR KA ©2 A2 FIECe bl ATgfel a2 w4l
(

(

C) RI-TQ SF Sl SRR 19[S FeAFoTq A SNCEAB F1
D) Tafeq q1eq Afos|fB e 41

o (I 919715 JTTCP BN o (AP 72T T ?

(A) =@-gaE Frog @@

(B) T@-TQR FEFR RECE ©2 722 FER Sl (ST ¢l FA1

(C) TE-RA! IR SNl SN FCo TGS <K S F41
(D) Tafeq &y P 2wl 1
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46. TEMEN o1 ST SOF GAEE! STE S8 GIANER SATelel Wi ?
(A) HEETH AR i
(B) WHEHETH WM HIHg 3ATES STEEHM THTE! T
(C) TroTsT HEET AR g STEMRERS dTeRREA=
(D) STMETE omEr et e e

46. Which of the following distinguishes a formative assessment from summative one?
(A) Knowing student attainment
(B) Using a tool to gather information about students’ learning
(C) Discussing results with students and other stakeholders

(D) Provision of feedback for improvement

47. NS RERIERSEN (I 2A<PI9 ?
(A) TR SRR (B) o199 &edR
(C) T woEy (D) #we SR

47. P SErry SRS (e 4iEs 2
(A) TR SRR (B) RN SR
(C) T @R (D) NTeeT Ty

47. AEWH IREETE! H TEWHT
(A) zfrre e (B) TG ST
(C) TIE IETE (D) 7Y SETan
47. The State of Assam has which of the following climates?

(A) Tropical climate (B) Hot climate

(C) Warm climate (D) Cold climate
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48.

Change the sentence into a negative sentence :

“As soon as he went out, the boys started noising.”

(A) No sooner had he gone out that the boys started noising.
(B) No sooner did he go out, the boys started noising.

(C) No sooner had he gone out than the boys started noising.
(D) No sooner he went out, the boys started noising.

49.

49.

49.

49.

ez S o0 20% I &, (S2 @ TG 5% IR/ I Facal F @1 I92Q FA A9 2
A) 12:5% (B) 875% (C) 15% (D) 25%

e T 20% I COICACR | 4G5 F© MO 2P F41 TS, AT FCI T I 5% I K 2

(A) 12:5% (B) 875% (C) 15% (D) 25%
SIH T 20% FTTSTEAT 5% TLET THE WIATHA! ATERAREE! SEa] Saal GHTEHT T ?
A) 12:5% (B) 875% (C) 15% (D) 25%

The price of potato is increased by 20%. By how much percentage should the consumption
be reduced so that the expenditure will increase by 5% only?

(A) 12:5% (B) 875% (C) 15% (D) 25%

50.

50.

50.

50.

Ted 3P PR (FIF 277 SRared I@ [ S oS IR0e ol 9 2

(A)  SRCTRRCos (B) (eI

(C) @™ (D) el

eCed 0P SR, FERETRemE T (¢ SREced w 203w R R e e emerRe weeae 2
(A)  SRCTFCoE (B) (e

(C) @™ (D) el

At SR srfesan, MR SHEHRA 7T 91 e 334 98, S Gofrd! STl S omE?
(A) ATATRAR (B) TR

(C) = (D) T

With reference to Indian history, who among the following is a future Buddha, yet to come to
save the world?

(A) Avalokiteshvara (B) Lokeshvara
aitreya admapani
C) Mai D) Pad i
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51.

51.

51.

51.

TG P23 R|IE A 12 IAF FICOE (O FIRRE | ABS (FIel 261 SNF 2609127 FH¥eed 305 Cox[
FafRet 2

A) F= Pz (B) zrre Pz

(C) e iz (D) =FEl P2

P 152 AT I 9% 19 fred eed a1l weafecee | 9fb 26 3R RS @l 2 peafeee
(A4) = Pz (B) e Pz

(C) AceE PIRE (D) =Tl P2

%z Toan Tort fiforma affen ST ST Qe | 9@l AR 316 327 3T STt a7

A) T g (B) W fie

(C) TSR firg (D) et o

Rudra Singha first built the Rang Ghar with bamboo and wood. It was rebuilt with brick and
mortar by

(A) Siva Singha (B) Pramatta Singha
(C) Rajeshwar Singha (D) Lakshmi Singha

52.

52.

52.

52.

RIS : PEFeTcel [Rion 4o PRFmie (FHE 209 RS A0l |
T : 0T RIG-REAIH 0P 1R e |

R (IOl e g 2
A) 3fe um 57 Ife sum B) f3fs wm oI I Carz [gfon wm am
(©) RRfS sz 3fis Ife wm (D) RRfe we Ife qabE orum

RIS : FrreeR RfT @0 Prse (@ 2R 341 S |
FEA : I B[G-Tdl 98 TA Bl 22 ¢ A |

ffeRe @ el Als 2
A) 3wz 57 9 ~um (B) f33fe wa w3k FRe [3fela Al amm
(€) f3fs sz afre T wafs A o (D) f3fe @3 TR Tews g

i : BRIRTRER SR T T e serREm |
SEH : TR BHEEE GHE SATess Gieiil gr@|

T e JHE=T el ?
(A) SR e o ST TR (B) i e AR SrEr gt e St
(C) ghrn Mfuserst ST e (D) Sf¥ T SR HiAsT TR BRATEf

Assertion : Teachers must use a variety of teaching strategies.
Reason : All students do not learn in the same way.
Which of the following options is correct?

(A) Assertion is correct but Reason is incorrect

(B) Assertion is correct and Reason is the right explanation of Assertion
(C) Assertion is incorrect although Reason is a true statement

(D) Both Assertion and Reason are incorrect statements
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53. Choose the correct option to fill in the blank :

She lives honest means.
(A) with (B) by
(C) on (D) in

54. I T A wal, oz SHew rH e e wiEm Ry | #lee 23 RS i fed AfR@eTe
s G2 2=l @ 0l | TR SISl Wb awefe 0 S Y13 RGNS FRA TR | a2
e[ ©f2F AR CTCe wive Fieace o e #1772
(A) e STRRMel (F%F /{1 TRl A7 Ry ©ikS OF »ig-gaN oree MR GTEiE
(B) Sz fled oz Afe frees el ©izss A i (1ce wifve 3f93ce o «eal 3 @eifa

(€) e @eNEe IR okRF Tite F9¢ SE TI2d TR (9NbF F19[® f2acel 3

(

D) =R TS, (el S B SNINREHIR TR SF P St RIS Bl G5 ST Fiow qE
P

54. Fiq T K Tl | G HoeH 770N [PTECR-9 WFE G0 #re | I3 FIOT (1 OF FIed &9ce
el 2AMCF O O SRSl Sbeel A e @R (ORI QS [ | GFee REsRal 2
TICF FIOT ST© TS AT Ft I 2129 F¢I 2

(A) =R A CTOICER TR (1A @R ST S DA A Ic5t REwme F1 78 7/

) OICP O HC©! ARPCS el PR TP AN FFel afoce Sive SR &) [es 6y 41 789 7

) OfF e feRIfe @I9NCIe (e OIS (IS Sive w9 3R RARIE WER I0H OIS IS el

D) fi%qﬂ?_%!ﬁ?w, e G9R O SIRTIP-GT ARG @R PO S| R I 9B TR
. i el

54. wgal o9m@l VI T wrEEn, R o EEs gmeel afedie (Autism spectrum disorder) TeET|
oy e forgt e 2T gogTe EEEE o 33, e fefenty g fefeE o Amesit #m AisR
ATt | g8 BRITR arfed fomdt omEt @ T SR A AT T8 e
(A) ToE A FEETERST BRIGH! SR JRE S Swie e g e
(B) fordt e e snfed o &, foret g SieiETe cest WIeHTET ST TS ST
(C) TorEt SiEaa e Ao W™ TR §HH AT@l gsTsil %sl BT
(D) WEMR #E, PAAT AR WG MESEHE SR R WEST I AEs SeEgmgai e

EIEIREIR!

(B
(C
(

54. Kanu is a student in grade VI, she is a child with autism spectrum disorder. While in class,
she appears to be engrossed in her own world, she displays unusual behaviour and does not
maintain eye contact. As a teacher, what supportive measures can you take to involve her in
the class?

(A) Take help from learning support centre as she can’t be taught with other students
(B) Let her be in her own pace, as much can’t be done to involve her in active learning

(C) Involve her by communicating to her regularly, make her sit with a peer group

(

D) Create a structured routine using picture card, puppets and more textures and visual
stimulation
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55.

55.

55.

55.

IFEF [ Q4 AR (RS AR CTCS Al FlACE | 2[99 SFS S TRAF Jral "1y or’e, 57
18 & Q! TGS A=S TR | SR FMe GF-SORRN Trar A 'F, FT 16 T @ WS TS
TfeT | 3 (16© A=< V&1 1% TFeeT @GP MRS ST A OIS Tl FRCE | ARLTS IFBICS
= Trat =fee 2

A) 42 (B) 56 C) 72 (D) 36

GFB AT (AF FEATE 1Al 7T G 0T TG WF F9 | 2-S] THeocH ST Al@l (ICT (ol @GR
TRE 18 T Fhal AT T | TaSR HoIcs AAIE GF-PORIH SRR (I (o @R 16 & 9 Al
A T | GFOIF AATH 8T APRE AI@! foIcT AP0 O IBAECE M @l T | IAMBCS AT F0G7e]

Trat Teofee 2

A) 42 (B) 56 C) 72 (D) 36

A 916 NIRRT T SE] FHE TRETs SEsEaEe | S nema=ae ged SHESHie T
STERASE, A= A 18 MU oEE M| 2 4 enyetEE am e @ S TwEnn
MYRAEE, TOF T 16 TE SHE TREaEs™d | S 39 sm@n TaE aifgas sty fifsema
TGS ST SHSHS STeRTHTEE | STETe SRS Ssl TR SHiH 7

(A) 42 (B) 56 C) 72 (D) 36

A bus started from a station with some passengers. In the next stop, half of the passengers
got down while 18 others boarded the bus. In the second stop, one-third of the passengers
again got down while 16 others boarded the bus. The bus then moved towards its
destination with the same number of passengers initially boarding the bus. How many
passengers initially boarded the bus?

A) 42 (B) 56 (C) 72 (D) 36

56.

G RIER AR o7 FRICI A TR | (D€ I Sl T T A1 S ey o AR 3w At
SEEIE B | G R (06 qoe fTFEHR S ApRyATe OfF w23 el 6 ¢ | emiefeay
PEFFEC TS ACAB BFG 2 S AN I Seqare FHE | CrRomid! Fresd oi2e v
2AfecsT G “iffefos & f€a 2

(A) TSR AR S7Fe pT 399, PR M afe ofs st wass, (o TRwce JNER o’
FRE TS FRPR T (581

(B) =@&=<s Mo frq o1 o< CRaee ARl e SR A o (965 s The @ Te
ACE AT 779 A1

e-Tgs &2 IR AE (96T foleTsa IR 109l ACS G2 Toe 7[7<fa T9CH

(D) T@e= TR I SR @R Reze (98 gom TR I Gl FReE S 2G-RIareed
AT @1 (T vl il &1 2’
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56. T FIOM GFE B AR OF R SHPNRACTHSMR 7o Feg a1 | o7 el & (reas TR
SeE FCE @A GRR TR ACEAR & AN FCH | SO FEeeE oo (7 i’ @3k
IO ©Ice W RBerd AAffefde = 1 omy [Reeie Freee ARESiNE e O e @ o
SR AT SRS 2 Feaa 11 | 7wie e PErcsa Ic el iace 2 RifElece § e 2
(A) =I@Ba TR T T A, ©iF R aifen Tom kel @ed —iaita bS58 Facae
3R (P (O P& ST FAC© SEFY I FIA ST FACS 08 2

(B) TEDCF oS FCA CIANCTR el SN ATICT (TS (107 OC (TN FeT (A (ealioe [k A

(C) TTSRICP G GR BB GF AR & ARFE TP ACS (T OF 9ol TS #(ICH G2 B
TR T e

(D) Q@Y =@ ‘(I 43R S AR CFae ¢ 938 IG I, (T PR OCF AT TR (16l
Tfoe T | ToR S RE-RAE (F0d 9 @i AT TR FI7R A

56. AU Y@ W™ BEHRET T 9 @EE! (Home assignments) STRAT WI forn @i
HIEH! TR THEERE S AR GHEERd SiEeEmed e | g BRITNER fo@l ‘Defaulter’ TR
“Taft EEEETEE ®iS ST g At Physics TOwRIfTEn aufamf wu@ S wmn s
Ul BTl TN SR | TS o BRI SR 9 SRt S a3 o7 Jremme ?

(A) TR THRE WIUTAR, BEEE ™ TR aREe o dmee fGfomr T sm

TETHE! BsTeE! 2RI STEeE g9a T A=

(B) WEETE! W SITEMT AR W& SR T8 ST 99 8-/, TETel, TR 3@ T g i
HEIR]

(C) fom-for faforgmm ol TaTeaf ™ wEEE! M@ <M, STerd foRn et TR e
I fefeat Amafter

(D) TSIRq FFERT Defaulter T A AREEmEs! o= fafew, sft amam fof wfimmen e dis
TST| g FIIHTERRA et S 7g e fafefr arfsema

56. A student in a class is often not completing his home assignments. He misses his timeline to
submit the tasks and seeks for an extension of date. According to other teachers, he has
been noted as a ‘defaulter’ and ‘not good in his studies’. The Physics teacher is very
particular about the deadline and does not allow extension of dates. What can be done in
such a situation if you were in the place of the teacher?

(A) Trust the capability of the student, respond to student’s pace of learning, make efforts
to understand his background and reason for not being able to complete his tasks

(B) The student can be given warning and give the extension for one last time, however,
announce there will be negative marking

(C) Inform his parents and suspend him for a week so that he understands his mistake and
does not repeat the same

(D) The student cannot be given an extension as he is a defaulter and does the same in
other subjects and also it will set a bad example for other students

57. 640 2BEe P (FING7!) TN A 2] BT B8 (FleTse] Ie19 Sfo2 2129 Fffee 2
(A) I SFFIL (B) ©ome
AR Fae (D) FofwT Fupice
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57. 640 TV AN (FIH) ¢ ST BT G (e A NS 22 FCARCE 2
(A) TR ST (B) <G
(C) TR FUAH (D) Fofme FUhIE
57. &30 @ET 640 AEATEAE EH (HHEITE) sREABHH | o= R TS sREsEH= 2
(A) FHR AR FHT (B) wTed
(C) AR %5 A (D) wriea %5 fre
57. Hiuen-Tsang visited Assam (Kamarupa) in 640 AD. He was received by the King
(A) Kumar Bhaskaravarman (B) Bhagadatta
() Kumar Rudravarman (D) Swargadeo Rudra Singha
58. NV S8 PN HoICS ZA-RIAR 713 S FRAcs FrFeice (are bl [amRe Seeiee K2
(| oS Wl (FICHT 5 PEFaTpee] =19 ¢ ?
(A) =Efeq Gifs (Law of readiness) (B) MR e (Law of exercise)
(C) ~Ifsefea TS (Law of effect) (D) %Een M (Law of set attitude)
58. “I0 WS PR /S TWA-RAITE 78 S| FAH Sl KRl 9B AR SRR R P |
Rrepera faferre (e >Taf =i w2
(A) e 5@ (B) SRR @
(C) ifefes (D) R qiEes 71q
58. ® AW SMREAMEN e BRIFRET ofdl @umEe SEar MEl sieF 9@ MR S
T | TR s Wi BTSSR ?
(A) TR gFg (B) GTATHHAT AR 5
(©) fromsft gug (D) SRR g%
58. Before beginning a lesson, teachers use a motivation exercise to draw students’ attention in
the classroom. Which of the following laws is used by the teacher?
(A) Law of readiness (B) Law of exercise
(C) Law of effect (D) Law of set attitude
59. TR I 1 A1 i Teefew 25
A) IR =rzer (B) wf7&
(C) fasm (D) Ife-SEEE (CTaeR)
59. FRF (SR I S ] i Tee{fee] 2w
(A) IR wigerR (B) 7"
(C) fasm (D) <IP-SRfEA (Carer)
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59. HBR S s Tan g S W S
(A) HIfS 37 (B) wOTR
() Fgu (D) @Tf-sEfeaan (Femer)
59. The Barak or Surma river of Cachar originates from
(A) Karbi Anglong (B) Manipur
(C) Tripura (D) Khasi-Jaintia (Meghalaya)
60. From the options given below, choose the word that is most nearly opposite to the word
‘Benign’.
(A) Malevolent (B) Soft
(C) Friendly (D) Unwise
61. T« TN I@S “[(0 IF (9€ e THE AT A (@ e a@ife ez | o = [
PEFTRRCE (963 ‘THOn’ T T | (DET APE GF [ 7RETH IR W @ (9€ AR ¢l
SRR [ S} A | G e f2pieel Remss Seeee ciite e R 3 2
(A) co¢ Rwee wIR (ermeae Aifsace fral Tbe, Ricey fogdia e qepalz o wies &' Feiks (2
7
(B) Rzy (¢ qbroe P ©bIe ICq CTRCE (9T AT A[Efare 2/ '3 6P |
A FIeT 791 TS (@R A FIA 013
(C) 3T AT (SET TFCH! TS I (SEF FT7F© A4 A
(D) (OSF TR FEACE B! FAAR AN (AT B I (9EF ANMGST T%© [ @RS F2F PR
<Al
61. 2 ™F AT #Itw, 1 AR *M8 G (HCAl [ AN SRl 2z v 1 | o) [ Frwaa

oI TR MRy 2N fofee e | AR Sicre G9) PR (A0F OR Y e AR oAl
T A O e G L AT A PR | G PR 2 WA Frerd KR =
21 PR 2

A) Tz g Freq «ap92 23, T ATR A A% O FORS 203 | 9FL A0 OCF OF (S AT
et

(B) @y Frafb qftroe ¥ wom =R FE CEY ©F AARARCE el “Rrrer AR 1ea™
T T | SR OIF (AT GF (AT (@ PR 1 T

(C) I FICT 22 O MW TANS Sl G- ACS G 7[FFE R FPhe <17 o {iFoe w19 &)
SRS CAICIS I e SREfars Feeet

(D) Rl fEIence i SiRHer=ee] ©Ice MR FICO G398 FNE & O ST SRS (1eq Jeisl
B T 9B TN TRRF Vel 15 Feeel

EIERE
i
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61. fer omEl X o v fort sreem fem o femsi S, qga et wRiftier fow aa
‘g’ M emEETETe gel | fat fommme foet fomrt Teh awfe SEEE s arn ey e
HI-STfoRa ! BRATRET | 98 BRIMR a1fed J7 feme! 7 amatera wefe gwsme 27

(A) o foanfet om g0, AT @ 1w i SR e gmeret

(B) faf smgan Famean faferan, af@meH Tetf arfaEH aRHwEen a|E aF g1 AeiHEE St
EIEERIECIRIES IRICEIE ]

(€) Taft get Seama arEieTa aEE foel T glueEl @ ST ST foR /IS " s
AT AR Tty Sme gaam gm=

(D) SAMM®ERE T8 &= AW foEl TEsaeAEE SEr RN SRS SEE, S g9 MyEe
HerA fomt @y I e

61. Rihan is in grade X, he is usually quiet and does not come forward. Other subject teachers
have labelled him as an ‘introvert’ child. His mother has also expressed a similar observation
stating his usual withdrawal from family gatherings and functions. As a teacher, how can
you support Rihan in your class?

(A) Allow him to continue as he is, stating some children are like that, they will become
‘normal’ as they grow old

(B) Ask his family to consult a counsellor considering his behaviour is same at home and
nothing much can be done from your end

(C) Nominate his name often in your class to motivate him by giving more attention by
ensuring that he gets reward and recognition

(D) Create a peer support group to help him engage in interactions, build opportunities for
him to come forward in public forums

62. Choose the correct option to fill in the blank :

Ice cream is made water.
(A) of (B) from
(C) with (D) in
63. 1 1 1 1 1.1 fde aemaes
2 6 12 20 132 156
11 12 10
A) — B) — C) 1 D) —
(A) D (B) 13 (©) (D) 1
63. Céfgﬁl+i+i+i+...+—1 +—1 -9qg C91FeT 257
2 6 12 20 132 156
11 12 10
A) — B) = C) 1 D) —
(A) D (B) 3 (€) (D) 1

EIERE

TCR-2024/P-1/ 201-D 35 i [ P.T.O.



63. v Loty v Ly 1y e wwim
2 6 12 20 132 156
11 12 10
& 2 B 3 © 1 O)
63. The sum of the series 1+l+i+i +... +i+7 is
2 12 20 132 156
11 12 10
& 2 B 3 © 1 O)
64. woTo ] FEHPHRT fooTe (FI T SBLSTETT ?
(A) AT A (B) e “Tel «[
(C) Po=perr e ST (D) JomRE 2o féiee
64. RIS (P oD T AL STETE 2
(A) 2SR (B) Rrrorn e “Rw
(C) PR & JonRM (D) CoI=1 =1 e
64. TTETETE T SO GAEBR 6 FHHEH HEASAE ?
(A) THSTETTHAT AT (B) Wi ™ AT
(C) AT TR s g (D) \eR a1fed 981 g
64. Which of the following assessments are the least inclusive?

(A) Standardized exams (B) Teacher-made tests

(C) Assessments for learning (D) Assessments as learning
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Direction : Each of the questions (Question Nos. 65 to 69) is based on the passage given below.
The questions are to be answered on the basis of what is stated or implied in the passage. Choose
the most appropriate response that accurately and completely answers the question.

Unbound by human owners and the constraints of ‘petdom’, they live the doggiest of dog lives :
they sleep when they want, mingle with friends they choose, pee when the urge hits, and eat when
hungry—as long as food can be found. Wandering the streets of Chennai in Southern India, we saw
them dozing alone or in company on pavements, seeking shelter from the heat under a van,
watching children playing on the beach, or being cared for by local residents. Part of Indian street
life, these free-living dogs stand in stark contrast to the culture of pet ownership found in the West.
Not only do they defy the image of the out-of-control and marauding canine stalking the
sensationalist articles of 19th century newspapers in Western Europe and North America, they ask
us to question our sanitized cities and stewardship of a world with nature at so much risk.

India’s robust street dogs also challenge the supposed superiority of pedigree that dominates dog
breeding today. One of us recently adopted a street dog from Romania. Bell Kanmani was brought
to the United Kingdom by one of the many charities picking up street dogs there and finding them
new homes abroad. While walking her in the UK, Bell Kanmani’s human is regularly confronted
with the question, “What breed is your dog?” The response that she is just a ‘dog’ only serves to
prompt further speculation about what mix of breeds she might be : everything from a collie to a
Jack Russell. Having grown up in India, Kanmani’s human finds strange, and rather disturbing,
this idea of dogs as necessarily belonging to a particular breed or mixture of breeds. She is familiar
with dogs who have lineages free of any human breeding, not necessarily belonging to humans or
doing what humans command them to. These unowned and breed-free dogs are now often known
as street or village dogs, or—our preferred term—free-living dogs.

Too often in the West, dogs are seen through the prism of pedigree, and connected to their owner

via collars and leashes. All too often, the realities of how dogs and humans live together in the

Global South are overlooked. As a country with a significant street dog population, India is a good
place from which to explore how humans and canines share street life in cooperative ways that
move beyond images of free-living dogs as dangerous.

Exposing the reality is crucial given rising media calls for culling Indian street dogs, exposing them
to rhetorical and actual violence. The condemnation of street dogs as risky and unwelcome is
rooted in colonial attitudes, and overlooks complex and varied everyday interactions, often
positive, between dogs and humans. Discussing their lived experience will help the dogs
themselves, and also help us reflect on how humankind can share the planet with all the other
creatures who live on it.

65. How are Indian street dogs viewed by humans in India?

(A) Indians prefer owning pedigree dogs, but they tolerate street dogs

(B) Indians are very curious about what mix of breeds could a street dog be
(C) Indians and Indian street dogs coexist in a way that defies stereotypes
(

D) Indian perception of street dogs is turning negative due to Western influence

EIERE
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66.

How is the perception of a dog of indeterminate breed different in India from in the West?

(A) In the West, it evokes curiosity, while in India, it does not hold any importance
(B) While Westerners cull such dogs, Indians prefer coexisting with them

(C) Both Indians and Westerners acknowledge the inferiority of street dogs

(D) None of these

67. Which of the following most accurately describes what the underlined sentence means in the
context of the passage?
(A) In the West, dog owners are more affectionate towards their dogs than dog owners in
India
(B) In the West, dog owners are more possessive of their dogs than dog owners in India
(C) In the West, dog owners use high-tech dog-care accessories to track their pets
(D) Dog owners in the West care more about the pedigree of their dogs than about a
genuine connection
68. Which of the following best describes the tone used by the author?
(A) Informative and analytical (B) Indifferent and detached
(C) Passionate and empathetic (D) Cynical and critical
69. Which of the following words from the passage means ‘descent’?

(A) Stewardship (B) Pedigree
(C) Prompt (D) Speculation

70.

70.

RG] FFCs (969 212 AT Fo12p] Fpel Tere woro (Il TeiTcaes Piaa #A1ea 2
A) TR I T AMCHAR T SRS SRl

(
(B) IR S STNIeTe
(
(

C) TI-FaAPRed ere Afeifare™ Jemrer ot core
D) R@-TaR SR 0S8 SRl 41

e @m S ovem Frers OF d19fie eer 9] R owfs 3 Facs w2
A) R (=G (=G MR & FER 20

B) f¥1 G SRATETC SHICH

C) TI-TATH T4 AfSRITOR ISR T e

(
(
(
(D) TI-RAITH &_eTa e Keass skl 1o
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70.

70.

T BRI SHSTEATERAT S Maf T IR JTei Sreies S g
(A) ErEEEE e e s o e ghe

(B) fset (Drill) 3T 7Tl Tl AIE@HT

(C) TIETHRA TSRId SRR MR eAT&HH

(D) FREMERM &t A e goiem

A teacher can enhance effective learning in her elementary classroom by

A) offering rewards for small steps in learning

oy}

) drill and practice
) encouraging competition amongst her students

(
(
(C
(

o

) connecting the content to the lives of the students

71.

71.

71.

71.

gB1 “A1BC7cq 9Bl (525 6 TDre ofof B i€, 57 (GFCOE worq SR BT AfRef A{iEeel (GLRRCHT e
IR AIC | OG0 AMRE (@ Oorq A= ARACT e >, A A GRRCHT Ao st
1 9% @R ST e | AN SERT ARICE! @ AR AN SRERT AR [ e ©f$
CBRIFCHT 1fer R =11 2

(A) 42 9G] (B) 7 9%

(C) 49 9FI (D) 36 TG

G #1727 6 TGR GO HIF 6 FACS I, F2 HIFHa oot IRe a6 o ARe fwe @
TEcE AIfel FACT AT | SANCED (A FCaTel (@, s i3S caen fom1 wear Onmlh =¥ o
TR 1 951 T @M @R | T of$ T ARl @ Aee IR ARl T W ofé Gl
STefee 4ifel FCe “19Cd, e 99 |

(A) 42 9G] (B) 7 9%

(C) 49 TG (D) 36 TG

HE IS 6 RRE 6 FeEE 3T WA B, AT ATAEE A A WSS TR aEd
ot el WA g | W U SRS Tt Tt qTeuEt el ITRa, S o Sfeat
AT WIATHA! 1 52T e 99 e | < 9T IRus! o< @I 379 3 A6l Sl qEasi seei
guTe IfRAT TGt ST ?

(A) 42 == (B) 7 ®=1

(C) 49 =T (D) 36 ==

An inlet pipe can fill a tank in 6 hours, but there was another pipe to empty the tank at the
base. The operator did not notice that the outlet pipe was opened and due to which it caused
a delay of 1 hour in filling the tank. Find the time in which the outlet pipe can empty the full
tank if the inlet pipe was closed.

(A) 42 hours (B) 7 hours
(C) 49 hours (D) 36 hours
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72. POCSO W12 Spiie e < {2

(A) 18 9571 oK [ (e Afe (B) 16 3239 o[ R (I Aif&
(C) 14 9239 o[ R @Ien ife (D) 10 9239 o[ R @Ie Afe
72. POCSO Wiz SRl Fres < i 2
(A) 18 I=FA G @A @I I (B) 16 =& G @ &I I
(C) 14 J=CIF TG @ @0 e (D) 10 I=CFA G @ &I I
72. POCSO A afesan 1 4 gwrisE Ar?
(A) 18 SER SEIF I SIEREsT=n 9 (B) 16 SER SHIH 3¢ TGS T8
(C) 14 TER ST I< ARG 9™ (D) 10 SER SEIH 3= TG 9™
72. Who is a child as per POCSO Act?
(A) Anyone below 18 years of age (B) Anyone below 16 years of age
(C) Anyone below 14 years of age (D) Anyone below 10 years of age

73. From the options given below, choose the word that is most nearly opposite to the word

‘Acumen’.
(A) Intelligence (B) Imbecility
(C) Potentiality (D) Superficiality

74. M 1 : 2A[ES CPE FleTe R 7 A7 PRS2 (12 [afe A T |
RS 11 : T e ATed 2RAITS (74l TR ([ (S STEFP FCEG AT SNSFI FICENCE 2R TH |
& : YT CPIE 7191 TF0IIE GRS 2¢a] 19 31es] w1esl foieq oiiegsl gl SRacet &ies |
Mo% fam oo 39 |
() TR 1 = 3 11 yearbE i =i Ifec (o

(B) Rl I oI R 11 qeahiz > e Fehm a5 (FIe 2= 2

(C) TRf® 1 wm, KM 11 STy o IFeoiea [gfe [ ([ael 2 Heq

) oAt e g1 v AT e

74. RO 1 : ARG CrRSICe Mgl (=16 (Z6 TR [0S 27 70T G372 IMCASS (T4 |

RIS 11 : RS CrRICe AR [eeFRel q6ce #I1ca A P 2ree Tacenfoe g Teofre =7 |

PR : PRYAT T RS PRI AR CFCIRFICE TAee 2 O O Ol SO izl Face
el

% feaf® s T

A) 31 @3k [3fe 11 Tew oo @R FRef Gy

(B) RS 1 @3 37 11 T3 1oy oo el wieax

(C) 3fS 1 719y, KJfe 11 =pTey, SR [ 1 & ([ael 2wie

(D) T f43fes wprey A FReM ¢y

g
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74. FREE 1 : TR I GUE T FRATEH! T St TR gy e
FE™ 11 : 3= 37 |wre fomrt § gareen U 39 @i foEr W sE |
STEH ;TR MEERA SR R Aiare! Sl SR 34 S 9 AR AREe Seiee e
el
Bt et W |
(A) FRFERE 1 AR AR 11 T T SR SR TS
(B) MM I AR §fFM 11 SAa e, T ST SHi-ar o
() MM 1 o W& Y gRAM™ 11 o1 WA, STEAT g 1 @ TEf g
(D) ST TsiscTrell HiA~al oM MR

74. Assertion I : In early childhood, children get angry for minor reasons and they show temper
tantrums.

Assertion II :In the later childhood, anger can erupt if children are often criticised and
ignored.

Reason : Children learn to control their emotions as they enter later childhood and
adolescent stage.

Select the correct option.

>

) Assertion I and Assertion II both are true and Reason is valid
)
)

) Both Assertions are false, although Reason is valid

B
C

Assertion I and Assertion II are true, but Reason is not related

Assertion I is true and Assertion II is false, and Reason validates Assertion I

P —

75. Fill up the blank with the correct tense of the bracketed verb :

“Rohan (watch) the movie before he read the review.”
(A) watches (B) had watched
(C) is watching (D) watched

76. TOT (24 AEHT FTS TP A FA5EA] 02 2

@A) 7 (B) 6 € 8 (D) 5
76. ORCST IO AT A PN TN AIS R ?

a) 7 (B) 6 (©) 8 D) 5

76. FRAH T TSRS STEm™E fmmn amemr 22
A 7 (B) 6 C€) 8 (D) 5

76. Assam has common boundary with how many Indian States?

@A 7 (B) 6 € 8 D) 5
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77. T A AYTRE A GRARKERE KAIO! 2967 I (202 | AR T TF ALY @A G 0N |
iz PP 7 @ @fST Fryg o1 @9 AIRRR TR wE ACE (SRS (SSTENT TS FHIeF | T
Qe (98 @3 T REW R WF T|WE AT S7Fe Aone W[ ofiee FRce | aher gaem
TeRd 201 (€9 gEeacs! 7P o 4= ~f<e 2

A) =, PRI T @ F THFOl T2IT I @ARR (SEERF Ton [areles foml afewm e

(B) =, Fruta P cafen coseenes 2fim wfvere 3% I (S SERS Tor 4RE TIE Sfewer TR
2’7 fr =3

(C) =, Myt Miced @RS &ibe (RETCTF A9e QR9TS R8T 91 2 R T97 Tewor S«ars
IRRRRMKII

(D) =, FrycE -7 Sfwes )EE F FE, SF T e T e g[S @ 6 g
A

77. W CACS ARG & GRRe [RRG 2[qé TN 2RCR | Aol T G3R ALT Cfice GRS [T |
o1 RegmT e @ 79w Forem Tl Afga o’ -«3 TCel 2SS9 ORI RS 1Y | GRS
fof @it qo Tga a7 M 99 O ATER’ -9 T SAwICTd G0 ARTE FeacRe | OF
2q) 2 Sl 5 Ao 5iResia Tom wawe (o e 2

(A) 2, Fred To9 WE 932 TSl WRH IO (0 T4 IR 9o ST B8l Al e

(B) 27, Preml 39w SOvE AN ToplfE AR A Tpel AROT R SGWOR A=A T 0
DEINa6]

(C) =, FReA B¥e CI0Y F< WibE ARUNSBCENE (=6 (@B AR TG FA W A Aol SISO
CAATCA AR

(D) =, Fres scdq wfoers] 7@ FCa (103 GRG0 (SC8 FRCAl HRCI B Gfbe] Toel AIFl G2 W
9CT PeTCe IS

77. SafafiEm (Biology) JTPETE! 6 Jm@ed fifs e Ura™ SEaam™ 6l | FHaET 9l 6 AR 7 374
afafamE wet| o= wiem see 1o sRE e ey arae fber’ aifg arn tser T @it
gl Sartedl fot amE 6 T o ‘e o feaef g s’ StEer wEE w0 WA e @ el |
Taronfs <t =fed, FiemeT Attt aiRawt THEETEET?

(A) M, T RA MW FEE o IR et Sean foarEl mem sge e et
IEEIPRIDEEIRI

(B) N, T BRI HICAS! St forER FHaH! g MRRdl ST e JHie 3R Wil BiRist

(C) ST, TR TIATS! Sectl sictlsl HHGBRT S TR THE S SRR e AsRE oSt
EanEd|

(D) T, T ®BI M T MAERST TS et 3T o@! fawrRAT @ieel Eieal WA T e
gl SR R e g

EIERE
i
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77. Biology subject is introduced for the first time in grade VI. Namita teaches Biology in grade

VI and VII. She believes children learns well when they begin fresh as a ‘clean slate’,
accordingly, she has planned her lesson to introduce the topic of ‘organisms and its habitat’
for grade VI students. As a colleague of hers, do you agree with Namita’s approach?

(A) Yes, children learn new knowledge and skills when they are introduced to new
disciplinary thinking process

(B) Yes, children learn when they are exposed to new ideas and experiences by maximizing
their sensory perception

(C) No, children learn when complex ideas are broken into simpler ideas which can be
taught through new experiences

(D) No, children learn by connecting previous experience, and can construct complex new
ideas and knowledge when broken down

78. TS Al (Pl SR (S @] FLIHFS el 2
(A) fofifersme (B) =M1
(C) &R (D) AR
78. R (PRI TP SRS FARFS qa/%ee 2
(A) Pt (B) I+
(C) AR (D)«
78. TEME o= SAEMMA Biosphere Reserve?
(A) Fomfoara (B) HME
(C) s (D) =maf
78. Which of the following is a Biosphere Reserve in Assam?
(A) Simlipal (B) Manas
(C) Orang (D) Nameri
79. FEN R FTS W T FMO W 2 2
() T (T (B) forifer T
(C) forfer q=e= (D) ¥feam™ 71
79. WIRN SR A FERIRS (@ TfeE ¥ rea 2@t 2
(A) FEIT S (B) ferifer et
(C) fomfer w@am (D) gfeam Tw
79. TR ST RGBT SIETEH ?
(A) wUE AT (B) Toafet pad
(C) frafer srean (D) gfom s&a
79. With Maniram Dewan, who among the following was hanged?
(A) Formud Ali (B) Piyoli Phukan
(C) Piyali Barua (D) Dutiram Barua
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80.

80.

80.

80.

PEFIPTReT RWIERE #[1 “[eRe (@4 99 e SAR (FIACH! 2
(A) R I&I S EACSPCH] GO S T Tforea

(B) =fSCh fre Trifefea “1GRkm Fa1 oI OIF I9i2 341

(C) bR Frmie *Nf% W a1 FeoR o 2nfsa =ieat

(D) Preeiee 3R @ TRT SF SARME R 8!

=355 #[ERIA CACA S AcTe ToIRT (I 2

(A) TR Y GR CFafefes T gu

(B) TefEfe (afeny T@m A @3 2fe PIiaees e el -56 a5
(C) TR T T (eI B OIera *1REF &y FCOR oI Ble] ey

(D) @2 TPl AT o FEFAerd TR G3R SARMTR FACS 204

AT HUIETA BT FUETHNT TRETHHT ARG SR ST om1?
(A) STErE! AT SR SR TR S gae g

(B) IS INER @M 1 wishme fifeee @ wa aremm

(C) Teheer HEHTERE! | BHT T 99 ™

(D) SHTERE! GEMH! BRIMNGRE! aefif Eremar s b Semm

Which is the best way to tackle truancy?

(A) To understand cause and find solution on a case-by-case basis

(B) Maintaining attendance registers and having roll call for every period
(C) Having strict rules for punishing learners who are frequent defaulters
(D) Holding teachers responsible and accountable for resolving these issues

81.

81.

81.

81.

Q4 (VTS 2WHS ks ‘buy 6 get 3 free’. €3 FAMM (T2 *OR*© AT F(Ece P Wl
(T2 2’7

(A) 50% (B) 30%

(C) 33:33% (D) «3ERA FICACHCIL TR

a3 @IFIC @41 27 ‘buy 6 get 3 free’. @3 FUM (@2 ORI FAET FAE I F6F 276
(F2/3-9F T 33

(A) 50% (B) 30%

(C) 33-33% (D) @sfer @IDs T

T TeAETE GG g0 ‘buy 6 get 3 free’. o YT W SEIRGIRTE AT TATGRT 2FR &R
ST

(A) 50% (B) 30%

(C) 33:33% (D) SBRM AEET T

A shop displayed ‘buy 6 get 3 free’. Convert this in terms of discount percentage allowed by
the shop.

(A) 50% discount (B) 30% discount
(C) 33:33% discount (D) None of these
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82.

82.

82.

82.

FTO] IR TS SPTS TS (21 FAE 7o1q T[S (Pl SM2e 2

(A) SR == (B) e wf¥

(C) CanTeTI FqwCs (D) <% AN T

FIRTO! FEANCH T S FIf1 2871 T 7eo Teifs (& freer 2

(A) ORI (rea (B) e ¥

(C) ConAAeTIe FaWCe (D) Ol AN F

IETTE AHTEERATS T TS ST Ea0S] ST STRTERTRE Ree 7

(A) AFRM E= (B) forouprm Aeft

(C) Ty e (D) T TH Fob

Who was the President of Swaraj Party formed in Assam during the Freedom Movement?
(A) Maniram Dewan (B) Bishnuram Medhi
(C) Gopinath Bordoloi (D) Tarun Ram Phukan

83.

83.

83.

e ifewpTea Fresiees bl Aice Feepeicd FeE A1 FEree et il (I e o=el
FA 1T ?

A) RS IF @ BN 27 i

B) FIers STRITel OE et e (et g e

C) PEFIT SIS i1 wlerce SR 38 I

D) femorers R (Fet deaie $E

e vifwpTea Frecmace 952 CAice FezpTeIcd fErl awi S @CS #I1cd A PEsceal Ciat sifvrea
FE

(A) SR 3R TS FIG 2ATIC T

(B) welsTe MRige (FMIceTa T2 Cof e

(C) TArFIcE SRS 0T (ORI R (o ¢

(

(
(
(
(

ST T T 7T SR W8 AR SHSRAHTS BRIAT BRI e 8™ 37 T@T ATSaq
R

(A) BUETET TR TRl WETHGR S TS

(B) TIGIATSATR BT AR T AT 3TEs FRISHTA

(C) WAFTERE! TET MHT W @I FRET

(D) T A A SATETSI

EIERE

TCR-2024/P-1/ 201-D 45 i [ P.T.O.



83.

Children with special needs can be effectively taught in the same class if the teacher handles
the class by

=

providing simple and easy tasks

ou

scaffolding and creating group learning strategies

creating activities to make learning fun

[P —

D) differential learning strategies

84.

84.

84.

84.

B Wi @ et SiEe 2

(A)  cfrer@ (B) (¢aleTr=B
(C) et (D) et
Bl 1 (e CereTR SfES 2

() cfreeE (B) (ol
(C) TR (D) smgfer
SEECIPICERS IR IC R

(A) oy (B) TR
(C) TR (D) TSt
The river Tuni is situated in the district of

(A) Sonitpur (B) Golaghat
(C) Nalbari (D) Majuli

85.

85.

TR (IO (3R PP R S S SO A (SETEIE AT Ot wiq e e R #I1fd 2
(A) (SSETRT [ FEFFTed 2[/l @ (2

(SETRFT TS F2 7S (SECAPT W2l S SPIRAE R 3@ oI

e PR e R /RS

) TPro-ares w1ore (OSCeTea Mg 2 4l wpleia famer wa ~11f

(B)
©
D
qEF @ FrFioE o @ S TIF STETes TR [ O QIAICS SRS SeTeid e SRRy
A2

A) oI s P fereeT e

B) SIvE W22 @R SPRYIE [RECH O et A1 0

C) I PEFIACE A0 FA A

(
(
(
(D) SCSRBCR A SIHR TG 2 AT SR KA F21 303
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85.

85.

MR T&GT TAUTE! ATEISTE TS TaH Shs remaE! se- Tmmt aefim am?
A) ForErfy s wriftfeeeEme d@ibm
B) o SHMER 0 MENHREWRE Jm S EsasH

Which of the following is the best way to know more about the learners to help them learn
better in the class?

(A) Ask their previous teachers

(B) Talk to them about their difficulties and interests
(C) Talk to other students
(

D) Talk to the parents about their aspirations for their children

86.

86.

86.

86.

FETIA] ogell 27

e SIed 2ICeCd 9 F41 FAR T

G977 ST 129 TN €7 BT T GUe S
Teq A5 fBNER SkeeTe 7epca BeAIRl Terd FICAIR

) TEI-AMOY SIeT FCOCT T8 T TGS (TN FICA

PRI DaeT e @RI

A) W eTECes 2Eibiae oy

B) Ted-7d SRS 0 T TR 210 S foae
C) SRCeA 7oy fBHER “Ie) % 73- e M 37
D) Ted-#IMe ORISR 2o S TS Plead F1ve

=

—_— o~ o~ =
—_— =

o

(
(
(
(
FHAHIR TR T oat fafory

(A) @Il IRAH ATETEs T ggH

(B) HI-H=T YRAM A TSl 2T Gaame TEEsi THE demi
(

(

C) YRAH GFTE fEe™ HErd seishe TEE 3aH
D) HI-HHE YA SAEEs WA T G faes 5

Kalamkari painting refers to

(A) a hand-painted cotton textile in South India

(B) a hand-made drawing on bamboo handicrafts in North-East India

(C) a block-painted woollen cloth in the Western Himalayan region of India
(

D) a hand-painted decorative silk cloth in North-Western India

TCR-2024/P-1/201-D 47 % [ P.T.O.



87. W2Wl (N I TI-WAPTFAR W(q I 7, O3 [ERIRNTF A6 S AR AF AFGIoSE FH FCO!
ATV B | SO FRFAYF ARG O3 e (2 AT AF Fo[ HolTFeq (1ce @AMl 75¢q |
e 1201071 SN7ffel M2 (SN157 FRIFEMS SIS 270 (e N2 FEF 2

(A) AERIFT FORCA T Pl A 22D IS B2 S bfe Afwacat #a a1esl

(B) Wl SICEAGA Bfel 24 TS @G SARIFeIcd “RcT=hel 1

(C) ZARIFIF “JACF NS W] T3 SRH=2 TG O] 2/ 40

(D) SCEBIR TGS O3S 2 2406 S S22 FHIC0] 5o FA¢eT 937 NCH! FCHIL FI99 Al

87. W O F ST TE-FAIE WOl @ FUYN 6 G[eE W, (7 FIE-0eE e SEReT @)
TGOS & FACO 7% A, WoITe FRFECAT TG (7 71 AT G- W& S0y FTRADE 0ot
CSICANS AT 1 | @S Prws 211 Sneifel RS welsre SRGe Sive 2837 o Freld TSl
FACET 2

(A) RIEF APTS FefTe] FCH IO 2R TS «[1 § B SICEb Bece e

(B) WS SCEAl SN B0 SARDIePoId Rl A

(C) =AMHE ARSI (T (1 (T Fo151S SACAGE SR¥=/2e FCR 1 ©OF FIFeI A1 ¢
(D) ZAID TS FIVTT (@4 A GIR SACEB Sl SRH=2 F¢F Ol TS FAK oy ©F 19 AL
A

87. ufgumn MEf UG TEH WEETER a1 S S I e, o me erfa wEE qiei 9 3 grta
W JTEET /ST || g @i wre= qurd foen faft o s gt TeA Armest sier drrar
ARG | A8 WA 7t Firet ufeural g Qe Hee S e °9 TET A

(A) FEHT-TREEAN TRGE TSR S ATEREARRE! STe™ O 8 TR ATeREHE STERe! e
EE

(B) T TGRS FTATHRE! THEE TSR &l
(C) wEETE! BRibE feferm foo At e aeEme stE TEfa iR
(D) RGN GEA™ R AEEEEE SErl dHEe omEw & gt mafsmm

87. Mahima is not as talkative as other students in her class. She likes to read on her own and
prefers to work individually. During the group activities, she continues to remain silent and
does not interact with her group-mates. As a teacher, how would you support Mahima to
engage in group activities?

(A) Let the discussion continue and not disrupt the flow of the discussion, assuming the
nature of the student

(B) Informally observe the student during the group discussion
(C) Call the student separately and check for the reason why she is not participating

(D) Address her name to ensure she is comfortable and participates during the discussion
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88. [ : RCI-RFNTPReT AP I wo oo 27 |

9« FPCIE-RFePTece R @RI [afess et [Keave e |

e e oo T |

A) RS Wz 5T FRE o7 (B) Rfs e Tl B Tz

(€) T3fs srum Fr TR W= (D) S = F=et e wa
88. RS : MR- RerRiom bR KM wo sifors =7 |

FRe : FerR-RFenRE Rwer aeacs [afew ace [oawn ¢ |

AfRF Keab oo T |

A) 3 wm 5 FRED Srom (B) RIfe @R F=° THD wrwm

(C) TR srum 57 SR Wz (D) e @R R TR s
88. THIAT : TIZHIM THTE TET SR oTel S |

ST @ ATEHMGRT BT HRRET ST 9 |

e et "’ |
(A) TERATET TS AR STEAT TS (B) THEAE AR &M THAs! T
(C) THRATT TR T SR et (D) TEAE AR SEH Fa et

88. Assertion : Adolescents undergo rapid mental growth.
Reason : Adolescents find attending school boring.
Select the appropriate option.

(A) Assertion is correct but Reason is not (B) Both Assertion and Reason are incorrect

(C) Assertion is incorrect but Reason is (D) Both Assertion and Reason are correct
correct

89. From the options given below, choose the word that is most nearly opposite to the word

‘Gallant’.
(A) Fine (B) Bold
(C) Coward (D) Frolic

90. IfZE] SFICTI 6! 31S F1 AP SN TF2eT ARRGTF (&l 2

(A) wERET @@ (B) oo qacanzE
(C) fovsfer zret qamcet (D) Srer Gl

90. 2] S 7[FRIA +Me 1 22 S Jfeen Affore ¢ 2
(A) «FRRET @1t (B) fipo qqeanzE
(C) forsfer zrer qamcet (D) el GBI

90. mam fifsfem arfec et s TR smgsen @R?
(A)  Ff s <t (B) oo srETRT
(€) Frde g sRaet (D) T =heghy
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90. Who is the first female Sahitya Akademi Awardee of Assam?
(A) Nalini Bala Devi (B) Nirupama Borgohain
(C) Nirmal Prabha Bordoloi (D) Rita Chowdhury

91. RS : Fryca SIS R FI1 TAFEEITE S0 P |
e : o My o omeeE «f{efe sRies Fe1, ool (ST feg Simead bare i e
TEAB! FfRECE e |

OO (I RFEACH! T 2

(A) RN W 57 Ifecs [ghos wm e 7=
(B) TRl wa o< sl RIfeq wa <
(C) Tafech srum fog et wm
(D) 53 el sTcan 2w 41 Rfe o 3 qeambie srys
91. RS : TFe “RICTwel 0 PRyl SNIfeR@eIeTe |bgel ¢ |
ﬂf@: RED| f‘}r@m BN ADKCNT FelFe] 2RI FCT Ol Ol RC@CW IO e FIC9 IR
fTEel F909 Y |
e @ e was 2
A) R wm g e [Ifela Al =
(B) TRt wm g3z Felt [gfelba s
(€) Tafelt srum 5 et wm
(D) FreR SmRceR Raw edl [9fe g3k 3fe 1fbe srem
91. ¥ : MY B YFAE! A MG FHARA FAS |
SITEM @ Stecll T BRT TEAH ATgH fhemset afaforl, stean foam maft oy e o qamAm
AEE dietet |
TR S W 767
(A) IR e AT SR A T sEe TS
) o e ST ST iUt e SeaA
) Sfor s T e e e
D) HAHE GH HHl< 8™ g1 I/ SEH JE-a! T

91. Assertion : Children learn self-regulatory behaviour through observing others.

(B
(C
(

Reason : When children observe the consequences of other’s behaviour, they learn to both
recognize and control their own behaviour.

Which of the following options is correct?

>

) Assertion is correct but Reason is not the correct explanation of Assertion
B

) Assertion is correct and Reason is the correct explanation of Assertion
C) Assertion is incorrect but Reason is correct

P —

Both Assertion and Reason are incorrect statements about learning behaviour
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92.

92.

TR fefle’ o cufel o AR o W e Gl Sy fefes’ (o Tee f2uieel Rl |
TN TeTe N AP GG (@ O S Afbee WI® AR ©fe 99 AAiceee RNl 1 | @R
S SRPIR R TCF (@FergRer A4fer| Te=E FHeR ?

(A) s zfer (B) g 2fef3
(C) S 2iferfd (D) 93EART (FICACHIER T2
Ty fefBe (o (XeTce SREICT | SaNSl wivee Ay fefbe (o [ (ream & (O R JCP S

| TG OF W GE @ 7 M SICE AT FC A 2R I TS FACS AT Od (A
O ST TR G | €oE AIfHcARRce a0 W Fl 4[0T SR 2mie BCAcee 2

(A) AT TP (B) (Ifeams THie
(C) RMF Tal7 (D) sl @I T

92. T fufesr m Aisn o, forn el Semame SHmemEE g Aewer fufdsr 1w seEr fammen
el | T fommEn st @HEAT o e S ST SeEA e STed /i 3 A oA,
foo A e AEeAEl SHWEEE SHdEE | o e arfdeen w fommn w dmm Tigife
SRRl ARG ?
(A) TISTEATSAT MG WA (B) TG TEATN TRGTTEH WTATHT™
(C) @Ta T WA (D) IHRA A=A AT

92. Ramya likes playing video games and for her next birthday, she has requested her mother to
buy her the latest video game. In response, Ramya’s mother has asked her to study well and
get good grades in her upcoming term exams, and if she gets good grades then only, she will
receive her birthday gift. According to this scenario, what kind of reinforcement is given by
Ramya’s mother?
(A) Positive reinforcement (B) Negative reinforcement
(C) Partial reinforcement (D) None of these

93. e R (9&T forery @Ng@ﬁ (e B FECE 21 ¥hI© G+ 2 ITe Teifre 2’7 71T | AMmce
(S8 fTery (@91 &9l FCA, (ICB (987 Fe o7 q1f2 279 2
(A) 5 9% (B) 7 9!
(C) 15 b (D) 6 9%I

93. G T O I @ g B9 (el TN P 21 DR (6 [E Fiea ¢ece e | I fof o

foTers @9l @Ol ¢, O fofel T A AT 2[R ?
(A) 59D (B) 7 9%
(C) 15 9% (D) 6 9%

TCR-2024/P-1/201-D 51 % [ P.T.O.



93. Hﬁnﬂﬁm%ﬁﬁﬁ@ﬁﬁgwﬁ@ﬁaﬁmﬁwzl Ted eE o S g grn | ol
T TR TaeTse T See | W S ?

(A) 5= (B) 7 ==

(C) 15 == (D) 6 5=

93. Travelling at gth of his original speed, a person reached a place in 21 hours. How much

time would he have saved if he had travelled at his original speed?
(A) 5 hours (B) 7 hours

(C) 15 hours (D) 6 hours

94, ‘e vIfznPTod My’ wed Sfeais 2] 99 9 52

(A) TR Frye(s 227 FIo! 0 My [ WP, N€IRS, TEa@RE SE ANMCGF AR o[
G T U

(B) SNef-AAMIe SE 0 2j2i iy
(C) T e[ el (Face AfeePT e g
(D) I@TeR A S SRR C2 o[l g

94. ‘R vifenprom fry’ @2 e IR Fa[ =il Fi 2

A) TORF Freg (A 79F Fel A PRy I9 Wb, RS, Sl iR TEER sifans
FC9 iﬁi CNAEIRIN

(@

(B) S-S ~fHfEfon I 72 e
(C) FrwE sl 7Rl (A Afoerien qaz H1al Fre
(D) IaTer & @ Fre @@ice ol wwier

94. ‘SX®l THI MAT T o FHRIUE! SEEEE iR 7re

(A) AT T TR SATET M OFE Y S Wi, JEEm, mer et S wEeni mEref
ST B ATATET

(B) HHSI-TET-RTR AHETH AT 3TTetter 1
(C) | Y SR Geteg e e TierEE
(D) Al G ARER AT IS JHASTER T
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94. What does it mean to use an expression like ‘a child with special needs’?

(A) A child who has abilities that are different from an average child, here the deviation is in
terms of mental, physical, psychological and social needs

(B) A child who is different because of her socio-economic status
(C) A child who is gifted and talented in all spheres of academics

(D) A child who has become popular in the class because of intelligence

95. Choose the one word for the given expression :

“A person who goes on horseback”

(A) Equestrian (B) Pedestrian

(C) Epicurean (D) Connoisseur

96. wfre; T T #Ift Wz, (9€ 37 FE T FI G5l P qFhl Iz A ARFea IR o
G2 AR (€ FIR Bl IS AT #91 SR IR ©fel A | Al 1 @5<qIF oo G
Rl | (96T PRI TS (FICAS T NG AR THFCI S TR FRACS ST Te2 ! S
3¢ | @ (9¢ e g AeTe IR F @R | (9€ wiwee Fewl @[ oo #9799 qivaa
(9ET Hled AT 7 02 AfFaca freet | ©fet weq ~RERech! S SR [esad o< |
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“[f5a enfaifeet
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(D) =NfMey (202 G G& T[@ R NCAER Se[ IF 85 Aol (hyperactivity) @RS &_I
SFIE | (12 A (96F A0 T [ il i< = fraest acarses

96. Wfre) 7 CIANCS “ICT | (7 Y72 &y Py | 3@ FPT GCT GFb APTCA 07T ARFCS G SPIRAN (@14 P
@R T FECE FP1 FARGAR (T FIOW 3¢ 5o @CO “lew ¢ | NPT 1l qFem IR 230761 Ml |
S BT HAFRI (FC FICT S IAR N2 AR T G2 S 1 27 (@ QG W %@ I6R A4 | O
@35 0T ff1 (reem1 @ =nfrsy 0T A2 @RICE Facz | SNfrercs Fee ed| &) ot = o
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(A) SR ST T SIS Al (O G38 $EeR RIS FACS AP

(B) RoP *wE @5 SR 1% el The T 8% ©ice o 41 Tve @R oF Fromrem Fce 9Fib
*[q AoTC Tfow

(C) FoP =M e SR MEF | e AW ET B ONT (O T Wi PR wfe
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96. Il ITEl Tamd A, fon SR mmafyr ey, foret e fufereret 1@ arfeemes fSreem o mere
A, sfreEal o fufeef Tsre aEifwE aetEE O[T "Jist 79 gEE wwE 9 ase e a
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(A) Sl STgR ieiaHTTH, FeTsa foril o @I Tt Tel ATe=m e

(B) g wwfn denfe areime aFre™, s gam o anf aemiae o fon foee e argsm
KSIILIE]

(C) gfem wufen A @0 BRIFN, fon maft arat gerRsY Tt BT STEeat Qe =iee

(D) eTfeerar MEEHT B R gRMRusiufe fdusri M o wremn| o |ifee™ oFr gHTEs!
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96. Aditya is in class IX, he is a very active child, he finds it difficult to sit still in one place
throughout a single period, that is why he likes to go out of the period in the middle of the
period. Mrs. Sharma is a strict English teacher, during her period no one dares to speak in
the class and are expected to maintain ‘discipline’ all the time. In one of her classes, she
found Aditya roaming outside the class. To teach him a lesson, Mrs. Sharma has given him
the punishment to stand outside the class for the next 2 days during her period. Diagnose
the situation that befits well in this scenario.

(A) Aditya needs to be taught discipline, otherwise he will keep repeating this practice

(B) Mrs. Sharma should not have given such punishment, instead he should be given a
warning, and a note should be sent to his parents

(C) Mrs. Sharma is a strict teacher, she should change her ways of teaching to make her
classes interactive

(D) Aditya is a child with attention deficit and hyperactivity disorder, it is necessary to allow
breaks during the session for him to move around

97. JIF qEGIETS (IRNAR RKicarz e ¢afee 2
(A) TS ot Picz (B) <cemE Bz

(C) e PRz (D) T Prz

97. I A (RN [ewz s 2eafee 2
(A) Fofwe aTE Pz (B) wceres ficz

(C) omre Prre (D) = Pz
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97. AR GATsATE HaATHiET fouTERa =R SrEEEH ?
(A) Taied et firg (B) TSR fie
(C) wua foz (D) fora fow
97. In whose reign was the Moamoria Rebellion started?

(A) Swargadeo Lakshmi Singha (B) Rajeshwar Singha

(C) Pramatta Singha (D) Siva Singha
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98. WA oMl 9 & @ BRel, i umEiema e g mee i wEETER g |
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fSM Electronic calculators @ STEREAT SHEH! s

98. Malati teaches Mathematics in grade IX. In her class, there are students who find
mathematics very difficult to understand. Children with disorders in mathematics are
relatively neglected, and not given much attention. You have come across a student who
counts on fingers, scribbles on paper, and marks in the air for basic arithmetic facts.
According to you, what can be done to enable the learning process?

(A) As the student is in class IX, it is difficult to teach him the basic mathematics facts now,
it is advisable to give more time and not trouble the student

(B) Talk to his parents, tell them the condition of the child, ask the student to take separate
tuitions to improve his mathematics

(C) It is okay if he takes time to calculate, it is better to provide him with distributed
practice, and portable chart containing addition and multiplication tables to help him
recall the facts by viewing and using the chart regularly

(D) It is a technology-driven era, it is okay if the child is unable to remember basic
arithmetic facts, it is better to provide access to electronic calculators

99. From the options given below, choose the word that is most nearly the same in meaning to
the word ‘Synopsis’.

(A) Index (B) Mixture

(C) Summary (D) Puzzle

100. Preq e f[fen afea 7= aeifie =1 ReaR 2 PR wsre sbereiy wive (2 AT | S
wfeeEel Oie TarlviR Freq Bl afe, ars o SRE Ker greiae w0 | (R TP 9o (P!
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(A) EEIETS afeE (B) (i afdw
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100. Child development is influenced by different processes that are intricately interwoven with
each other. The cognitive experiences and stimulation affect a child’s thought process,
intelligence and language development. Accordingly, which of the following affects child’s
relationship with peers and adults and their personalities?

(A) Cognitive process (B) Biological process
(C) Socio-emotional process (D) Developmental process

101. 2024 f2eN Gfeqe GFoREE GFIT [Ea S IE-2171 %eIEE (2% FHEE
(A) IR S DI (B) T WIF SR
(C) ©R® I Bl (D) SRS S TR

101. 2024 W&l G St GRea Redl € qmE-17l 7ol 29 I
(A) @Il @33 o (B) o9 ¥R O
(C) e 9% forf (D) OIS &I TR

101. 2024 TEAEN 30 TREm =Sffeg Zfuft Stenn e T THR-3TT g i
(A) ST 3T e (B) Tom oM vra
(C) wra R o= (D) 9RA TR AT

101. The winner and runner-up teams of 2024 Women’s Asian Champions Trophy are
respectively
(A) Japan and China (B) China and India
(C) India and China (D) India and Malaysia

102. ‘49 2fer®’ 2’9
(A) @ Tateea Toge TFal
(B) STEETRE TElvieq Tl
(©) =i
(D) FEET Taeea (ICRIEl B
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102.

102.

‘Negative reinforcement’ means
(A) not presenting any stimulus

(B) presenting an unpleasant stimulus
(C) punishment

(

D) terminating an unpleasant stimulus

103.

103.

103.

103.
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As per NCF-SE 2023, which of the following characteristics make an effective enabling
environment?

(A) Inclusive, violence-free, encouraging good habits of learning, caring and responsible
(B) Systematic, technology-enabled, inclusive, equality and good behaviour by learners

(C) Responsible, intellectual environment, good teachers, violence-free and technology-
enabled

(D) Experienced teachers, quality relationships, good infrastructure, caring and responsible
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Direction : Each of the questions (Question Nos. 104 to 108) is based on the passage given below.
The questions are to be answered on the basis of what is stated or implied in the passage. Choose
the most appropriate response that accurately and completely answers the question.

It’s one of the abiding mysteries of the ancient world, how on earth did they make Dhaka muslin?
The fabric, popular all the way from the 2nd century BCE to 18th century CE, is the stuff of
legend : Woven so fine that it was translucent, with a thread count so high that a six-yard sari
could pass through a wedding ring. It was worn by Greek aristocracy and Mughal and French
royalty; written about by Jane Austen and Leo Tolstoy; described as ‘woven air’. Production ceased
in the 19th century, as an industrializing Britain crushed India’s once-thriving weaver
communities. The cotton plant it was made from is now extinct. The strain of bamboo used in the

loom is extinct too.

But a new effort aims to revive Dhaka muslin. When they started this project, it felt like they were
operating in a vacuum, according to researcher Saiful Islam, who has been spearheading the
Bengal muslin initiative since 2014. Islam and his team have travelled across 11 countries,
including India, Turkey and China, meeting academics, historians and crafts people. They all said
the same thing : the fabric was made in the East Bengal region, but the plant (Gossypium
arboreum var. neglecta, known locally as phuti karpas) has gone extinct. Using close to 100 books,
the researchers began to piece together the production process. They found that the fabric was the
result of an elaborate 16-step process (each with its own sub-processes). The phuti karpas, which
grew only on the banks of the river Meghna, had unusual tensile properties that allowed it to be
stretched thin enough to achieve the high thread counts. To try and find a variety of cotton similar
to the phuti karpas, the researchers collected samples from in and around Kapasia. DNA analysis
showed a 70% match with one of the samples. So they started cultivating it on small patches in
Kapasia and along the Meghna river in an attempt to replicate soil and climate conditions as
closely as possible. The first crop of this new phuti karpas was harvested in 2017. The team
brought the raw cotton to India and had it spun at a type of manual spinning machine. Over and
over, the yarn kept snapping at the loom. They could not get the weave fine enough. It took four
months to produce a sari with a thread count of 300; eight months to reach a count of 400. The
team has hit 500, but only for a few inches. If they cross a thread count of 1000, the world could
finally have an answer to the mystery of just how they did it, all those years ago.

104. Dhaka muslin was described as ‘woven air’ because
(A) it was worn by Greek, Mughal and French aristocracy
(B) it was woven so fine that it was translucent
(C) it was written about by Jane Austen and Leo Tolstoy

(D) it is not produced anymore
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105. Which of the following statements cannot be inferred from the passage?
(A) The cotton plant that Dhaka muslin was made from is now extinct.
(B) The British tried their best to revive production of Dhaka muslin.
(C) The strain of bamboo used in the loom is now extinct.

(D) Dhaka muslin was a result of an elaborate 16-step process.

106. In the passage, what does the idiom ‘operating in a vacuum’ mean?
(A) In isolation (B) In cohesion

(C) In conflict (D) In tandem

107. The answer to the mystery of how the Dhaka muslin was spun so fine will come
(A) when better machines are made to spin the yarn
(B) when the cotton plant matches the original one
(C) when the weavers cross a thread count of over thousand

(D) All of these

108. This passage can best be described as

(A) abstract (B) narrative

(C) argumentative (D) expository

109. & (FITeH TS Ofil ST 3% IReT 2
(A) TSl (B) (ISPl Fhalell
(C) T@ TR (D) w4 @

109. RS (@@ e SRS QI SR GFe >3 7 ?
(A) ForFeTSI (B) CoICoMal Fparell
(C) T PR (D) SR (weF=
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109.

109.

R 9RA TR AHTEGETAR §ed T8T7

(A) Hehetdl (B) +HITaRl Fehl
(C) T R (D) HFRM <&
Who was not a martyr of the Quit India Movement?

(A) Kanaklata (B) Bhogeswari Phukanani

(C) Kushal Konwar (D) Maniram Dewan

110.

110.

110.

110.

(107 2P I VTS ol (FIICHI BB F BPge)f 2
A) RI-RIAPTPE K@ KA SICh!

B) R@-TAN HNS9® ACASeN 2fs Tersrel

C) e woree] =8¢ o 41

D) ICT ™wq Toeigel

(
(
(
(

N “fRH T R e (el SRR N gwge 2
A) RG-RATE AR 20T S

T[I-TAIE IS ARAGTOR 2T o]

TR FERRCOTE 2SR (8 ¢ I el

D) ICT ™ [(7d T7erdel

w1 foreifls aH quTa TEE SeR The AT ¢
(A) HIETERN 1] FRme e

(B) UG TTETR TMHTTIf wRd St

(

(

C) draigmsf framef Maiforat Tam wrArRE™
D) AF TEmH ICT St

Which of the following is least important when planning a lesson?
(A) Knowledge of prior knowledge students have

(B) Awareness of student’s individual needs

(C) Framing clear learning outcomes
(D

) Availability of ICT resources

111.

Choose the correct option to fill in the blank :

The Saraighat Bridge is the first one the Brahmaputra.
(A) across (B) over
(C) on (D) atop
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112.

112.

112.

112.

P f2B107l o1 (FIICOT SATCRICT et &1 q1- (R Aet CRell (e i 2
(A) COSCETP TATFIET RS TGS 2T F #11Csl

(B) (OSERa SRRepT oIt gferatel sifefie TRl eme i3 #1esl

(C) Rt oI T3 “IREES (SSTERA T2 TP FRFEAS o1y Fa- FCl
(D) (SN ANGHIRTP NI AT GBI TR =141 38 e #Mes]

aFe Porws 20703, e Pretrd ca@en Qe oo fraferfae @i Somf e 2
(A) G AAETFITTS AREC O Al FeTew W69l 2 1 Tivw

(B) SRIRRAPT ATICTR &) OIChd e FiFTel 2w 31 The

(C) TRPePT G2 A AT TMler2 SRR SIonacs IR o1 1 Tvw

(D) efSfRemeTs “namicTa Somesy iced &) Sewl f[elsl tofd a1 The

T BRI e, MRTEH SeEn wEEia T ekE! el g WA SEtigsal qietee e
A) ToERE AEET SRR S 9 O TR e

B) @l T BlUREREE g S el 3eite g wist

C) BT W SHH FramiETe et S el forwdt e P T

D) foEE! Aise SRAMN IREr JE ATeTe o6 gFe

(
(
(
(

As a teacher, which of the following is the best way to motivate schoolchildren?

A

Nt}

They should be given respectful treatment but in a monitored environment

Extra freedom should be provided to them to build their confidence

P
—_— =

Engaging activities as per their interest in an environment of trust and care

D) Creating a separate section for them for remedial teaching

113.

113.

28 TEI2 #[e F91 RS FETel J&iF T4 N FHa9 I ARG [ o1 Teim 91 21 2
(A) PP et (B) crrefes frat
(C) Crar fwe (D) 3@ (FICICHIEE 27

RS FETSl 2N T TN FHCR T 101 28 Tene Wl Sl (@I Wt f2omed Tem <61 2

(A) PP (B) e i

(C) P (D) sl @FChe -
113. WETET \T1E IEE® T TH o S Tal 28 JATeamd wranfed wiferan?

(A) HIST Gorg AW (B) =T fafsrm =

(C) T Tty (D) HRF AR T
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113. How do we observe the death anniversary of the famous freedom fighter Tarun Ram Phukan
on 28th July?
(A) Good Governance Day (B) Deshbhakti Divas
(C) Deshraksha Divas (D) None of these
114, ~[IFR A0 AARPEA 2O I TR G (PIACH! KCToeTl 1 7127 2
A) = (B) T RETe Soaely
(C) =@ «Jel (D) “WITR TR
114. *[reR el ot T Tmer fafie @ b [esan w0 = w2
(a) fom (B) FrotmReTs T
(C) TR &= (D) #PAICTA T
114. TERM F9 THUE B8 ARG Blueprint @ R @@ =R—mE dmeHR Str?
(A) AT (B) Tererty erfa
(C) wifreRA 7R (D) WRIA™ dH
114. Which one of the following is not taken into consideration while preparing the blueprint for a
test?
(A) Topic (B) Instructional objective
(C) Form of questions (D) Teaching time
115. Choose the correct option to fill in the blank :
He is sitting his reading table.
(A) at (B) by
(C) on (D) in
116. Choose the correct option to fill in the blank :
He always stammers in public meetings, but his today’s speech
(A) was fairly audible to everyone (B) was not liked by the audience
(C) was not received by the audience (D) was surprisingly fluent
117. o[ (@A (SR T TEY S M2 ?
(A) TR (@EEEEl (B) D% P AR
(C) (5" (It (D) feifems Fracast
117. TR (RIS (HFAIF 5 - 97 TFES [ ?
(A) wFERI SESIA (B) DUPAE IO SMCT
(C) (Z5T (It (D) fifeam FReEe

TCR-2024/P-1/201-D 63 % [ P.T.O.



117. 9R ‘SATER gm'f qer?
(A) A& SSEE (B) =% FHR AR
(C) TS TRt (D) fAferm wraw

117. Who did not belong to the ‘Jonaki Yug’?
(A) Lakshminath Bezbarua (B) Chandra Kumar Agarwala

(C) Hemchandra Goswami (D) Nidhiram Farwell

118. JEORM ©g (humanistic theory)3 (® dfo&« &
(A) AT TR S TN TS FCI
(B) (P AMY® Te (ZAICHI S F41 =7

(C) =TI Fore afscaorers S[eld 2'q Tonfew

(D) TS A SBAZS (2=l ACF

118. ?\H'M\ONI%(\I OCed ARTE O FC AT B SIIKS
(A) 43 T GaR AN TS FCE
(B) €3 WSS TAAS 2SAF ST FCA

(C) TR e AfSIfaTeR Self 6™ &y Tefze =7

(D) SRRBIIFACER FCH G9F F@f{2e 68 I AT

118. G Greian kel ggHEE i
(A) TE SEH IR TG SASEAE
(B) T THeIRY HeArE! it
(C) TSI SETEATE! YT B
(D) TTE T sEt oA WM YT ST o
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118.

Humanistic theory requires that each individual
(A) receives the same instruction and support
(B) is expected to reach the same standard
(C) is encouraged to compete with the other
(

D) has an inherent drive towards self-actualization

119. M HAM6ad A0 ST J0! TS 41 22w SPINAT @ETRfL=d =1 F 2
A) ‘Tred @O@FEl (B) “ZIERRI HAIC 1S4 4R
(C) ‘feceTs IFBR (D) ‘efeemf’
119. P SoIBCas S WISH 2<% =l Fel SIPICIE 22 Defftod (PIAlh 2
@A) ‘Tred @EEE (B) “Z[eIEA DRI e AR’
(C) ‘feeTs TR (D) ‘afewf’
119. &R HEYAH UG TG J HiAAE STEWH ffafem amayg =17
(A) ‘THX dSEEAT (B) ‘TR =R @Y W
(©) ‘T e’ (D) ‘ufdeat’
119. Which is the first Assamese movie to win the National Award for Best Feature Film?
(A) Dr. Bezbarua (B) Halodhia Choraye Baodhan Khai
(C) Village Rockstars (D) Pratidhwani
120. Iff x =29, (T2 x° — 30x* +30x3 - 30x2 + 30xF MM 27
(A) 290 (B) 841 (C) 0 (D) 29
120. M x =29 27, ©F x° - 30x* +30x3 - 30x2 + 30x-93 I 3
(A) 290 (B) 841 (C) 0O (D) 29
120. JfE x =29, 3= x° - 30x? +30x3 - 30x2 + 30x 3 wFw wFTA
(A) 290 (B) 841 (C) 0O (D) 29
120. If x =29, the value of x° — 30x? + 30x3 — 30x2 + 30x is
(A) 290 (B) 841 (C) 0O (D) 29
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121.

Choose the correct option to fill in the blank :

Before you gave answers, Sir them to us.

(A) sent (B) will send
(C) had sent (D) was sending

122.

122.

122.

122.

PEREle cafba qor @

(A) PFRPRR (s el SF RRFICE (@CEtel @l
(B) Frweeers Ko Fee eicarseiael 2ifd #(1cq
(
(

C) PEFIRPTRe (qearel (qeatsl HeePhe A1 SIS AbehE 277 #ilcq
D) oo Freicy SeTeeE o[ [ifen s sy = 72

FrwIlE Eba e @RE @

A) PrERicr [ifea (@fas sTwrer @3 Memee

(B) Trwiicra o Miee ecreae! 9es 7

(C) MrwiEial fafen siegple gz wifs “befRe 2w “Iw
(D) =cer et ffes Tonea ey @R <2<

HRETHR TRserEn fef-emn

(A) FUIHTERE FAH™ T 3R ATEaT a1 &

(B) G ST AIANRM MAI o= g

(C) e T T BRY T T AR ST B

(D) T TAHITIHT e T Tgn AR @l fafeTa g

Learner diversity implies that

(A) learners have different intellectual abilities and learning styles
(B) learners may have special learning needs

(C) learners may be from different cultures or linguistic backgrounds
(

D) each learner is unique and different from others in several ways

123.

Choose the correct option to fill in the blank :

I had not expected to meet him; it was quite an meeting.
(A) organized (B) intentional
(C) undesirable (D) accidental
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124.

124.

124.

124.

e 2 IFER AR RN I TR [FeW Sinpr Ffresees A [« SR #1192
(A) IR e RO 2S5l PRy e RO bl 2w 396

(B) IR BRE 0T RA-RIQIS LS e ST S0 MR 7

(C) =G-TaR T fFaq 1ca I e e 3f2ee s

(D) BA-FEAPTFTF TOTTGF TR (967 ¢oTce dfzace] e

cfAce =P e REc [easan F6@ T [Rem sifzvrmem RrewE oo $ F91 g 2
A) @ Preg Rom T2Re” AESE OICF QNG OF (PR G0 [O™ S 277

(B) &S RO Sl FrRywEcs R (ICa ANC ST PSRl

(C) Fryra Tere MERCTR Sl Il PReg 0 PICS (el

(D) PRYTHECE TOTZETF TP 0% TS (TS

TG WA ST TETH WS S THTa S @ M M7 19 B e 91 T8t @ g

(A) S@ET T AT T BT AE @t R ST ST /i geie

(B) ITEA TSIl BT AT BEEThRE! BRI a1l Ste e g

(C) | THRATT BIFHTST FRETRRE! Hrafi A= 9Rar 6t GH

(D) WPETEE YT T 3T TS SREEE e

While considering seating arrangement in your class, what is the most desirable plan you
can plan to involve children with special needs?

>

) Provide special chair for children who need more support in the corner of the class
)
)

) Allow children to sit with encouraging peer support group

B
C

Make students sit in front along with the teacher’s chair for more support

Make students sit with an intelligent child for better learning

P —

o

125.

125.

125.

125.

ST A SPTNESE J01 ORI (e 11 1 ALNQIP! BFFe (FIe 2
(A) To @« *BFE (B) fecomn o
(C) T BIb! (D) I A

SPICRE ITCA SPTNEP 7[ K% “SPN (qed’ = 1 22 e (P foeem 2

(A) T2 G B (B) Tocewea s

(C) o= BIBT (D) I[N ATE

St St fafaferm aren ‘srem svya' @t ffsfm 9 aeeme?

(A) o qU Hfera B) Ty e

(C) T = (D) TS THSS

Who is the first recipient of Assam’s highest civilian award, ‘Assam Baibhav’?

(A) Dr. Tapan Saikia (B) Jitendranath Goswami
(C) Ratan Tata (D) Baba Ramdev
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126.

126.

126.

126.

V7 43, 2+/6, V8 + 2 T /5 + /537 fToq® HGIZSF 7F (S0 2

(A) J7+43 (B) 2++6 (C) V5++/5 (D) V8++2

V7 +4/3, 246, V8 + /2 3R /5 + /5-aF TCH TR (Qb (0 2
A) J7+43 (B) 2+./6 (C) J5++5 (D) J8++2

V7 ++/3, 2+ 6, V8 + 2 3 /5 + /5 T AreE w19 gafia?
(A) J7+43 (B) 2++/6 (C) J5++5 (D) V8 ++2

Which among ~7 ++/3, 2++/6, /8 ++/2 and /5 ++/5 is the smallest?
A) J7+43 (B) 2+./6 (C) J5++5 (D) V8++2

127.

127.

S R T - | ol IR @ SR A TR [FENM wa-waN @bl e e SefEe
A, AMe W7l AN e (oERT TAfEfe o | G2 RE cfen S giEen w9 =
e[ fF 7 A0S Ta-TaPTE [RERE TS (SEEE CERITe SP#s T 2

(A) ST FERET @5 G R ga-mal S REE R OTte (oS SeifEfes e
Ffeatel ST ©F Piee ToRe A9E 2129 FEACE Te SEAR g F49 Svw

(B) (SSTEIRF MBI *RITFI 395, I'C 2FFR $F9S [AE STESF IF ENHIIS NAMFET 2[5
o @R “fafes A wes

(C) (oS o e w7ifee aifsq weticsl o2 I (ostaee JfeaTeed &aR e, F190e
EIGIEH ﬁr\f"fﬁ I (SSER ACORTP Gl &F

(D) (SSTHAIRF WA #5955, 5. 5. BfS e a2 R @@icere ToFs T2 ga-2anaes
forIe T S (OSCEITT purs Aol e

A P AR GFEe M- | @b “fere 21 @ 3G PfREe serEe are =ia AR Fie]
S AT, AWS FFICET AN P N AR A OIewd ARFIS 2R | R See giEcene s
2 | =F DA R-R@] ACS S SRPifEe 7 2 ©f five FaR e el § Facae 2

(A) IR ACE I SGACE GFH O (o Fca, FPRfen IRI @R &0 Ta-Tal @R RS
PR FIE @ TR IIZW AR AR ARISIFICE TACT VT 229 FACI

(B) SITHE WIGIS oRICITFI FAEA | @G AT BFQ NI OIMd TS FANIN AR INFCT
S A1 st AR wper 2eT “Affon KA SirEes sl

(C) P O AT SolfFre A THe T (7 AW 2CoFa 05 IMSNTSICI S| T G-
Tl fRwpery F$om @R Ba-RIAN HSSRBTE SICI

(D) SIoA SR @36 BIFl ol Faca | B B B wemm e seprifee wg-waiem e
FACIT R ST DOIB TG (HCTe]

EIERE
i
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127. i am@r 10 T om@ SRR i F9EE et $H s aEmeEE anm aHede sas ifeee g
HEHTHRT MR ATEHSE T Tl MHET 4R, Se@ foaw sufs fufeee ifim amn g e
TR S Sl | B Q™ qHE BUSHThRT SR SRaieTd SaTeltd o ot {9 Erems
FITST AT TET ARTH?

A) ™ T RFEAE sgH AFE e e SemEE, WE oo a9 Seme WmtEn g
-G AR BRIATHRE! ATRFH FHE FYH o™ TR SAER™E TETE &1 aW

(B) foerfy emgel eiteHm™, foama o stasmeft MATrdt @i, S fSeR g e
AT Iecl SHSTTETe 3™ Fe1 9@t foie fufergmm

(C) JTERE! TRTRATST BT TS WM IrEe gRAS Sl g0 S, T SR BTl
farmin om0y feraefy fom-fomer forforama

(D) foEmf smg A FM8 Note WEHA™, CCTV HET  STERAT TREEHT AHE BIAETGRE!
formafomm ) foe Staen |t Tee e

127. You are the class teacher of grade X. It is observed that a group of students from English
period are often missing their classes, although you meet them during morning attendance,
however, it is brought to your notice they are mostly not in the class during the English
period. What would you do to ensure students do not miss their classes during school
hours?

(A) Make a note of the repeated behaviour, and call for a group meeting with the students
and the concerned teacher to understand their reasons and then take appropriate
actions

(B) Observe their behaviours, tell them the importance of board exams, and the
consequence of failing the exams if they miss the classes

(C) Reach out to them individually to tell them why they should not miss classes, inform
the school authorities and their parents regarding the same

(D) Make a note of the behaviour, catch hold of the missing students using CCTV cameras
and give them the final warning

128. Choose the correct option to fill in the blank :

Columbus was in search America.
(A) for (B) of
(C) about (D) under

129. “To uphold and protect the sovereignty, unity and integrity of India” €3 IR &4
(FICHTE TFTS (2 T ?

(A) FRRYFT 2B=T (B) 1 “IfoIeTe FoHmers e
(C) (Mot wfxpIT (D) CMfeT F9y

EIERE
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el aN

129. “To uphold and protect the sovereignty, unity and integrity of India” —fgfifde &F™Ha

GRISAEEIOE
(A) FRRECTR 2R (B) & ~AfvER Fomres Tfer
(C) (e =PI (D) CTfeF T
129. “To uphold and protect the sovereignty, unity and integrity of India” 3T TEREN =&
IRSCICIERACEICIoE
(A) wfafsaft fifs g (B) T AR faer @
(C) T HioTE (D) T T

129. “To uphold and protect the sovereignty, unity and integrity of India” is a provision made in
which of the following?

(A) The Preamble of the Constitution (B) The Directive Principles of State Policy

(C) The Fundamental Rights (D) The Fundamental Duties

130. 1894 5 {523 w57® =fFw 2
(A) 1= ez (B) Feiaf cal
(©) Jfr fcurz (D) 3@ (FICICHIEE 27

130. 1894 e ST A% T(fFe 2
(A) “2FEn [eurz (B) FEIsfe cqex
(©) 3 Reu (D) sl @b w1

130. 1894 WHATEAT A< €
(A) TYUEETE TR (B) FATIR &ar
(C) e fommermaE™ (D) SHRA A=A TST

130. Year 1894 is related to
(A) Patharughat Revolt (B) Phulaguri Dhewa

(C) Rangia Revolt (D) None of these
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131. 3l : Freg fom [fen 2o S1s[ICe I 3309 (109 PFIFee 99 S =4S SR |
& : Gieere =R e B [P A 95 28 SR 1@ |
ST (PO AT [ 2
(A) RIfech wm oI IeCbica BT ST T e
(B) s o 3 DR wo
(C) Tafech wa 5 IFeChica T wemes e T
(D) 3l srwm o8 e wm

131. RJS : Fryom To [femzca [Rex 906 @3 ©F A0 M 3 @ 7= TR0E |
& : Gieere “ofa M g2 RFeE (wed 9F F28 SR /e ¢ |
frfefae @ et s 2
A) RSB AT @3 If& 9T SIS W I
(B) R 92 Ife Texe wrum
(€) fafels 7w for Ife afta s T =
(D) fgfelt srum 5z Ife wn

131. GHA™ : T BRMA SERET A A SRS STl TR I o5 S el I |
ST : G BRI S SR St ae i e e
TR S W 797
(A) FHRART TS TR SR Sl AISTe BIARIIET
(B) FHREM IR SEH HH-al @ oA
(C) FHIAE 6 AT TEHT S@! [T HRAT SRR
(D) FHRATT TR TR ST et

131. Assertion : Development proceeds in children at different rates and learning has a unique
relationship with it.

Reason : Individual difference plays a great role for learning and development.

Which of the following is the correct option?

=

P
_— =

Assertion is correct and Reason explains it well

oy

Both Assertion and Reason are incorrect statements
Assertion is correct but Reason does not explain it well

D) Assertion is incorrect but Reason is correct
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132. IPTS TS (2R 22 12 (FA! (o 2

(A) @RI B @ (B) PN (@i

(C) SPT-CIRE B2 (e (D) 3EARA (FICANHIER 727

132. SPIC TIPS 2831 2128 B @G (@ 2
(A) @R B @l (B) PTG
(C) TP~ BT (@Al (D) 9Bl @FChe =

132. M MEEAE feed |rer o st ar?
(A) SRETd TTET FHHT (B) @ FHEITH
(C) 3TETH-STTA TN FHEATH (D) SBRM HHEE T

132. The first tea company established in Assam was
(A) Jorhat Tea Company (B) Assam Company

(C) Assam-Bengal Tea Company (D) None of these

133. T3 (2 @ ‘9Bl e f[F7 “owes w19re e fofitl Trazes Iee A9y F1oe 919 FHel Sow (2
W’? | W i’?{

(A)  FEAPTOICE o007 T AT, FCAES AP o Taro “1057[f

(B) TRipeiceiatl, eiep] Prpifes S gplage *fealq wwe [ o2y
(C) TreiToeica FezP], THREEFeld Fo12P] O (MEFOIE ASZTITe
(D) 2R Wi 23, FERE B e “nae[fe e

133. fo%3-9 Wcw ““Ofs ©Icen g “Noviced sew Rrscaa foafs (TIcazees Teey e Bioe 99 THel oo
3@ A | Il =

(A) FEALPTOICE oM0e I “AT@H, FRCANES “Morad G372 Taro 71057[f
(B) TREmeceian, Feien] Prie @ag @[ *rery wwer [ ©ey

(C) Frieloelcy Feer], SReEFecd PRFA G2 (TP HICEeR

(D) s TfEe «3fe, FreRia «beH 9 “rfe @m
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133. faan wRumEfE, “Oe WIS SAEE BRAEST BRI T SHEAH TS BTSSR el TisisHT
oqrt|” SR Sl

(A) BB STSTRATHT 219Tg, AT BUHT 3TRI ST HfSSTahI
(B) TIAH e THI TR, TS FIAiiarEe SR 21 siems Tt afdy
(C) PRIET=R STty ST St A Jrs A
(D) TEMTEA BTSSR oA, T foen R wufssre fram
133. Dewey states that “a good subject matter teaching involves teachers’ ability to coordinate
between three domains”. That are
(A) effectively structured curriculum, revised syllabus and advanced textbooks
(B) information about learning style, effective pedagogy and 21st century skills
(C) pedagogically effective, developmentally effective and intellectually challenging

(D) latest integrated technology, learners’ backdrop and textbook knowledge

134. Choose the correct option to fill in the blank :

He has been invested great military honour.
(A) by (B) with
(C) above (D) on

135. IPTF 012ecF 2D ARz e[ 27s
(A) el (B) <

(C) =I5z (D) *MeTES

135. SIS Aoy Ao qeae 2a
(A) I (B) <

(C) =I5 (D) *eTE8
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135. 3Em fifstaf s wer smet
(A) A (B) wHA

(C) T (D) TTTerears

135. The earliest historical dynasty of Assam was that of the
(A) Palas (B) Varmans

(C) Narakas (D) Salastambhas

136. dr [RiTeF[ Qa-QAF ARG F99 ey ToF 275

(A) CIRF [T SR 2R[IETOR €590 “IfPAISF TS (FICTS SANf A I

(B) (OSCERT SR RO TRRIST S (DSENT AOZHTEAT PRAFTT GT© F

(C) = (AR (TSETT I Wbl pore 3fzata fras = i il facel e

(D) (SSCHAIRFY ACTRFS ofeTTed CFaqe merd TMeq KA sxore 395

136. FI7 [y RFE TG-TaIE “AROE F9R ST TA™ 24

(A) P (AP O ﬂlri%lﬂ PPl GIR CPICT 2T MTOI FICR 7 2 | JICO 919 iﬁ. & (1Y« I
(B) OICHE W22 SRR 0 OIS ASZILNF FAFEY TS Tl

(C) =¥ @RE @R 72F IR IE FIOW GF (FINR PO e R &S F1e Fa¢0 el

(D) ItH SCSRFTE TG G2 ARFICE CFHeq RUIETEs Aifed [RE S[eNe F1
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136. The best way to manage disruptive students in class is
(A) to remove them from the class and send them to counsellor so others are not disturbed
(B) to find out their interests and engage them in challenging activities
(C) to reprimand and isolate them in the class corner and give more work

(D) to call their parents and inform them of school policy on suspension

137. 2573 4T3 T I 23

(A) 2 B) 4 € 6 (D) 8
137. 257 -9 4TS T TFH 29

(A) 2 B) 4 ) 6 (D) 8
137. 2571 ga gmafaf fommr swia

@A) 2 (B) 4 €) 6 (D) 8

137. The unit place digit of 257 is

@A) 2 (B) 4 €) 6 (D) 8

138. YRECS NGRS (2T FEae FRECe 91 TR 6 @l 23 2

(A) fWIETE TR (Diagnostic assessment)

(B) 91979 Y& (Formative assessment)
(C) ST¥iE<s =0 (Summative assessment)

(D) STPINRS PR (Contemporary assessment)

138. YRS 7GRS (0T (T e SR &) 1 JoRACE <l o] 2 ?
(A) e ST
(B) ST &

(C) T FoRe
(D) STPINRS TonrE
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(B) TSR oA AT
(C) g e g
(D) v Hufs SO g™
138. An assessment that is generally carried out at the end of a course to assign students a
course grade is called
(A) diagnostic assessment
(B) formative assessment
(C) summative assessment

(D) contemporary assessment

139. fRfRS (FICH! SN (18217 FERFS i ?
(A) caE B T (B) Wl B Ty
(C) 2R =Ib=si2 q R T (D) TR IRHFCEAER
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139. RS MG AM THE e RACH & ALARFS S2eeT?
(A) TR AR Twe (B) =Tl AR Tl
() 2R ~15=i2 qgR Tww (D) &9 e

139. TREM Se=T THL TAIH gRH SEIH ATEm SEms e STErd ¢
(A) R FEe T (B) S TEA U
(C) fafe ureshts Jae urh (D) SHRE T

139. Which of the following is/are protected area(s) of the white-winged wood duck?
(A) Nameri National Park (B) Namdapha National Park

(C) Dehing Patkai National Park (D) All of these
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140. “Having a diverse classroom with children from varied social, economic and cultural
backgrounds enriches the learning experiences of all students.” This statement is
(A) incorrect, because it can confuse the children and they may feel lost
(B) correct, because children learn many skills from their peers
(C) correct, because it makes the classroom more hierarchical

(D) incorrect, because it leads to unnecessary competition
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